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SCPI {5 < @i

SCPI (Standard Commands for Programmable Instruments, BIEJJRIZNEBinEGSE) 2
—FE S EI AR |EEE 488.1 1 |EEE 488.2 &t b, FHBE T |IEEE754 tuEFZ iz S M.
1ISO646 (5232 7 (4RSS (HHXTF ASCI f#2) ESMRERRE (Y EERIZIES. AT
7 SCPI epSHIE. 75, SEMGESHN.

R E

SCPI s S AMPRBEREN, BIESNFER, BN FREA—MERRFH— I SENERK
BFIORL. RSITEEIES : " i XBFZEARSES ": " 3K, XEFEEIRMER%
HSHRE, GFSXRFHE—ISHZALFELSH. GSFHFBRLAI—1 <iiT>
(<NL>) FHER. aSTREANIRS "2 BERFMIEEHTES.

THEUFFFSAE SCPI apS RS, FiEadAE, ERBERATHNRBGHSPRISE.

KHES {}
AESTEEESSNAIRSY, KXY EERP— IS,
40:DISPlay:GRID:MODE  { FULL | GRID | CROSS | NONE}&<>.

B |
BEATHRSNSEER, KiEapSHOREERF— IS,
40:DISPlay:GRID:MODE  { FULL | GRID | CROSS | NONE}&<>.

BiES [
BIESHHAS (HEXETF) B8R, NRERSE, (EEZSHIRENEIAE.
e I F:MEASure:NDUTY? [<source>]&<, [<source> | rSanEE,

=ZRAiES <>

=ARIESTHSHEWARA— M BEREXREHR. fia0: LADISPlay:GRID:BRIGhtness 30
A9 &£ DISPlay:GRID:BRIGhtness <count>#mp,
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AFEMNMBNBSTRENSEET LD AT 5 #3580 f/REL. 2R LR BEEL. ASCl
FRER,

* THRE
SHEYEA "ON" (1) 5 "OFF” (0). fIgn: :SYSTem:LOCK {{1 | ON} | {0 | OFF}},

o EH
MRAESBIRE, SHEENETERTUBIREIE. 5 IthiY, BAERESE N
#ig, BB HIMEE, Ha0: DISPlay:GRID:BRIGhtness <count> &S HRRIS#I<
count >BJEY 0 2l 100 SEEIRHHE—EEL,

o EE
BRIESBIRE, SHEBNETENTLEERE.
flEn: ¥+F CH1, CHANnel1:OFFSet <offset>#p<HRTSE < offset> HUBEFISEEY,

o EHE
S REEBUSEN L/ MNUESF. 540 :DISPlay:GRID:MODE  { FULL | GRID | CROSS
| NONE}p$HIS#R8EAN FULL, GRID, CROSS, NONE,

e ASCll FfFH
FRIESHELR ERIEATE ASCI FRFE. FRFBRLARIRS ISTHAMER, "L
B3|ISHWEIS. SISHRTERAILUFAFRSEN—EED, RAB/BAFRFABAEFERN
(HIZH, FIaNREIP: SYST.COMM:LAN:IPAD "192.168.1.10",

G

FESSIA/NSHRERE, AIUSBRAASHNS, NREHES, YR=aSIE AT
EAS=E,

HRREI S RN EEIEIRE], BN ERREENNASEEE, HepsLaLREIRRE
THGERT, e BIERD/NUREEIREB =EUE, e BN IREB=EUE, #t BEUEREILNFTS IEEE
488.2 #EXNFRIBEE, HIg: # + KERMSHNFAUEETEI—F/] +

+ BREE + GRAFL \n' ], fIa0#3 \n FR
AR 123 MFLEULERIEREEI, B '3 &R "123" 4 3 MFFHL
TR HREEIEANTTREIEI R R,
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IEEE488.2 B S

*IDN?
> wSiEN:
*IDN?
> TIREhER:
BTFESHIEEER. NEEES, FRFIISHRERES,
> IREE:
TIEREMR, KRS, FRFYS, HRSORIRIEHRES.
>

UNI-T Technologies, UPO1000X, UPO1000, 00.00.01
*RST

> woiE:
*RST
> TheekdiR:
BFREH EEHETFERNEREERRIEREKATIZE S,

*OPC

> woiEN:
*OPC
*OPC?
> TIeEER:
B EHESEES BRITHInERIE 1,
> IREHE:
EFREMSFIREIIESHITIRIERE K, 1 R/ T™TK, 0 TR AT,
>
*OPC et SR v WA=l
*OPC? IARE 1, rIFESEBHIITTR, RZFKRTHK




SYSTem S

AT HRKERHTREANRE, TEQRFEIETRE. REMNE. BRNIIINRRRE
$ERTRE.

:RUN

> miE:
:RUN
> IgeHER:
BFHEREESRRETIE, MBELTIE, FEHITSTOP &2,

:STOP

> mSiE:
:STOP
> IgeiEiR:
BFELRERSRERETE, MEKRSETIE, FEHITRUN <.

:AUTO

> afERt:
:AUTO
> DaefEid:
BT EangEErzHE, BYBMREFEMARNKIAZIRER TR,

:SYSTem:LOCK

> atEa:
:SYSTem:LOCK {{1 | ON} | {O | OFF}}
:SYSTem:LOCK?

> TNRESEIR:
AT iiEsE RN REIRE.

> IREER:
BHRRESESIERES, 0 XF-RME, 1 X -UE.

> Bl
:SYSTem:LOCK ON/:SYST:LOCK 1 SREIE
:SYSTem:LOCK OFF/:SYST:LOCK 0 SHREREE
:SYSTem:LOCK? EHifRE 1, FriE

:SYSTem:ERRor

> afERt:
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:SYSTem:ERRor
:SYSTem:ERRor?

> IgeEiR:
FFE=tERBRNTI,

> IREER:
HRREIREXNEREIR, Bl "<BEREHES> <BRAE>" BAREERER, H
F<BERS>E— 1Y, <BERE>E—HXGEISH ASCH FRFE,
#0-113,"Undefined header; command cannot be found",

> Bl
:SYSTem:ERR BT IR
:SYSTem:ERR? EHifiRE]:
-113,"Undefined header; command cannot be
found"
RIKREMIESS

:SYSTem:SETup

> antEa:

:SYSTem:SETup <setup data>

:SYSTem:SETup?
> IDHEEAR:

ATERERRRELE. H<setup_data>ARFEHIR 2: IEEE 488.2 “HHIEES.
> iEEE:

BiEREIRRIRELIE.

:$SYSTem:LANGuage

> wSE:
:SYSTem:LANGuage { ENGLish | SIMPlifiedchinese }
:SYSTem:LANGuage?

> INRESEIR:
AT RERFIES.

> IREER:
#HiFR[E{ ENGLish | SIMPlifiedchinese },

>
:SYSTem:LANGuage ENGL RERFESHEN
:SYSTem:LANGuage? HifiR[E] ENGLish

:SYSTem:RTC

> afERt:
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:SYSTem:RTC <year>,<month>,<day>,<hour>,<minute>,<second>
:SYSTem:RTC?

> IgeEiR:
BFiRERSRTE.,

> IEEHE:
#iiRE &, B, B, i, &, #.

> )
:SYSTem:RTC 2017,7,7,20,8,8 BRERANME2017F7H7H20= 85 8%
:SYSTem:RTC? #ifiR[E] 2017,7,7,20,8,8

:SYSTem:CAL

> wSE:
:SYSTem:CAL
> TNREHER:
ATFRERAERE, BRIEHE, FEEREE.

:SYSTem:CLEAr

> weE:
:SYSTem:CLEAr
> TNRESEIR:
AT ERARMENFERIAIRELUE.

:SYSTem:CYMOmeter

> @tEs:
:SYSTem:CYMOmeter {1 | ON} | {0 | OFF}
:SYSTem:CYMOmeter?

> TDHEHEAR:
BT REFTHERARELT,

> IEEHgR:
BERESEEITRS, 1 FTH, 0 FRXKA.

> Bl
:SYSTem:CYMOmeter ON FIFSERLT
:SYSTem:CYMOmeter? HiFiRME 1

:SYSTem:CYMOmeter:FREQuency?

> SR
:SYSTem:CYMOmeter:FREQuency?
> INEEfEIR:




AT RSN ERRRE, AREFTFRRIHE AR ERER(E.,
> IREHE:

EHRERETHIRTHNERSRERE, TRERRE".
> &l

:SYSTem:CYMOmeter:FREQuency? &ifjiR[E] 1.20000E+3

:SYSTem:SQUare:SELect

> weE:
:SYSTem:SQUare:SELect  { 10Hz | T00Hz | TKHz | T0KHz }
:SYSTem:SQUare:SELect?

> IgeEiR:

TR EEEG KA.
> IREER:
ZABREN 10Hz | 100Hz | 1KHz | 10KHz }.
>
:SYSTem:SQUare:SELect 10Hz 9 10Hz 97
:SYSTem:SQUare:SELect? AHifiR[E 10Hz

:SYSTem:OUTPut:SELect

> o

:SYSTem:OUTPut:SELect { TRIGger | PASS FAIL | DVM }

:SYSTem:OUTPut:SELect?
> IgeiEiR:

AT RERHIEE, TRIGger (ff&R) . PASS_FAIL (BZ&%M) . DVM (BEFHIE)
> IREER:

EiFIR[E{ TRIGger | PASS FAIL | DVM },

>
:SYSTem:OUTPut:SELect TRIGger EHHEER A
:SYSTem:OUTPut:SELect? &ifiR[E TRIGger

:SYSTem:BOOT:LOAD

> SN

:SYSTem:BOOT:LOAD  {DEFault | LAST }

:SYSTem:BOOT:LOAD?
> IfgeHEA:

BF&E LBFINEIRES T, DEFault R7REKIA, LAST ®RRLE—IRIRE.
> IEEHE:

EifiR[E|{DEFault | LAST },
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> EEfl:
:SYSTem:BOOT:LOAD LAST REFNEINE LE—RIRE.
:SYSTem:BOOT:LOAD? &#ifiR[E] LAST

:SYSTem:POWer:MODe

> SN
:SYSTem:POWer:MODe {OPEN | CLOSe}
:SYSTem:POWer:MODe?

> IgeHER:
FAFRE LR EFHEERX, OPEN RREF, CLOSe ®rEX.

> IREER:
EifRE{OPEN | CLOSe}.

>
:SYSTem:POWer:MODe OPEN RE FBIEE.
:SYSTem:POWer:MODe? &ifiR[E OPEN

:SYSTem:MNUDisplay

>  atEa:
:SYSTem:MNUDisplay  {5S| 10S | 20S | INFinite}
:SYSTem:MNUDisplay?

> IhHEHEAR:
RAFREXRBENETAIE, INFinite REE—EHER.

> iREHE:
ZIREN 5 | 10S | 205 | INFinite }.

> &l
:SYSTem:MNUDisplay 5S REXPERNEANSS ZE, BslE.
:SYSTem:MNUDisplay? EifIRME] 55

:SYSTem:BRIGhtness

> SR
:SYSTem:BRIGhtness <count>
:SYSTem:BRIGhtness?
> IfgeHEiA:
RTFREERSE, <count>EUEA 1~100, HFHARSER.
> IRERER:
EERESFFRESE.
>
:SYSTem:BRIGhtness 50 RERESE S0
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:SYSTem:BRIGhtness? &HifiR([E] 50

:SYSTem:VERSion?

>

I SHEI:

:SYSTem:VERSion?

IREEE:

BDREIRAEE, 128 ZHFRHEE.

HW ARBHRAS, SW SIRHERAS, PD S4B, ICV AthiRAS.
25650

:SYST.VERS? HiFiR[E
HW:1.0;SW:1.0;PD:2014-11-20;ICV:1.4.0

:SYSTem:COMMunicate:LAN:APPLy

>

>

S
:SYSTem:COMMunicate:LAN:APPLy
TDaefER -

BT AP ERIRERIME S,

:SYSTem:COMMunicate:LAN:GATEway

>

RS
:SYSTem:COMMunicate:LAN:GATEway <gateway>
:SYSTem:COMMunicate:LAN:GATEway?

Thnesik :

BFREEIAMK, <gateway>ETF ASCIl FERFESEL, BTN/ XXXXXXXXXXXX,
IREE

HiFIREIBIANK,

37

:SYST.COMM:LAN:GATE "192.168.1.1" REEIAMX 192.168.1.1
:SYST:COMM:LAN:GATE? HifiR([E] 192.168.1.1

:SYSTem:COMMunicate:LAN:SMASK

>

wmSigt:

:SYSTem:COMMunicate:LAN:SMASK ~ <submask>
:SYSTem:COMMunicate:LAN:SMASK?

ThEesEiA :

BFREFMEIE, <submask>ETF ASCIl FEFESEL, BT XXXXXXXXX XXX,
IBEE:

HiFREFRHEERE,
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>

250

:SYST:COMM:LAN:SMASK "255.255.255.0" 1&&F/#HE5 255.255.255.0

:SYST:COMM:LAN:SMASK? &[] 255.255.255.0

:SYSTem:COMMunicate:LAN:IPADdress

>

I SHEI:

:SYSTem:COMMunicate:LAN:IPADdress <ip>
:SYSTem:COMMunicate:LAN:IPADdress?

Theefiz :

FBFIRE IP ik, <ip>/EF ASCIl FRFESEL, HBILIT XXXXXXXXKXXX,
IREHE:

=HifiR(E| IP i,

251 :
:SYST:COMM:LAN:IPAD "192.168.1.10" i%E IP itk 192.168.1.10
:SYST:COMM:LAN:IPAD? EHifiRE] 192.168.1.10

:SYSTem:COMMunicate:LAN:DHCP

>

i SHE:

:SYSTem:COMMunicate:LAN:DHCP {{1 | ON} | {0 | OFF}}
:SYSTem:COMMunicate:LAN:DHCP?

ThEEsEiA :

FFi (Bzh IP) #1 (Fzh IP) BECEER.

IREEE:

HRRESEER, 0F = (Fa IP) , 13%xk= (Bah IP) ,
25451

:SYST:COMM:LAN:DHCP ON FI7F IP shSECE
:SYST:COMM:LAN:DHCP? =R ME] 1

:SYSTem:COMMunicate:LAN:MAC?

>

I SHEI:

:SYSTem:COMMunicate:LAN:MAC?

IREEE:

&HifiR([E] MAC #pIRitE,

25650

:SYST.COMM:LAN:MAC? &ifiR[A] 00-2A-A0-AA-E0-56
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:SYSTem:COMMunicate:RS232:BAUDrate

>  atEa:
:SYSTem:COMMunicate:RS232:BAUDrate <baudrate>
:SYSTem:COMMunicate:RS232:BAUDrate?

> TDHEHEAR:
BT IRERKARRT RS232 BifEIRITR. SEUEEL, 8 600~115200,

> IEEHgR:
EIFRERAFE,

> )
:SYST:COMM:RS232:BAUD 115200 RE RS232 ig4FE/9 115200b/s
:SYST:COMM:RS232:BAUD? #HifiR[E 115200

:SYSTem:COMMunicate:RS232:STOP:BIT

> @tEs:
:SYSTem:COMMunicate:RS232:STOP:BIT {1]2}
:SYSTem:COMMunicate:RS232:STOP:BIT?

> ThHEHEAR:
FFIRERKEEHI RS232 @HEOE LA,

> IREE:
HiFRE(T |2},

>
:SYST:COMM:RS232:STOP:BIT 1 %8 RS232 Z1ERIA 1
:SYST:COMM:RS232:STOP:BIT? BHifRME 1

:SYSTem:COMMunicate:RS232:PARity

> SR
:SYSTem:COMMunicate:RS232:PARity {EVEN | ODD | NONE}
:SYSTem:COMMunicate:RS232:PARity?

> IDHEHER:
FFiRERKeEHY RS232 @il @t.

> IRERER:
EEIRE{EVEN | ODD | NONE},

> )
:SYST:COMM:RS232:PAR ODD IRE RS232 BE&FHBIENEFE
:SYST:COMM:RS232:PAR? &ifik[E ODD
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:SYSTem:COMMunicate:RS232:APPLy

> o
:SYSTem:COMMunicate:RS232:APPLy
> INeEHEIA:
AT MRME=SRIRER RS232 BBOSH.
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KEY & &

BT =Rk R FER ER R .
:KEY:<key>

> afER:
:KEY: <key>
:KEY:<key>:LOCK { {1 | ON} | {O | OFF} }
:KEY:<key>:LOCK?
:KEY:<key>:LED?

> INeEHEA:
BT IRERBINRERIZERAVIE/ B &5 <key>RIENXMER, FUMR 1: &H#E7|
=,

> REfER:
EiNREFEWEIREEERS LED IREITIRE,.
BENE: 0 FRTAYUE, 1 JTE;
LEDITIRES: 0 /RTAR, 1FRT=,

> )
:KEY:AUTO Biig ERes STz HIE
:KEY:AUTO:LOCK ON/OFF BiE/ MR iR
:KEY:AUTO:LOCK? EHRIREIZIERITERTS, 1 J-8UE
:KEY:AUTO:LED? EifIRE] LED JTIRZ, 0 FrnA A=
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CHANnel %

BT MNBEREHTIRE.

:CHANnel<n>:BWLimit

>

gt

:CHANnel<n>:BWLimit {20M | FULL}
:CHANnel<n>:BWLimit?

TheefEiz :

FRTFRETERIRGITIEE.

20M: FTFFIR#IFERE 20MHz, LURD BmAIesEs;
FULL: XS T

<n>: {1|2|3]|4}, 2BIFRR{CH1|CH2|CH3|CH4},

IREHE:

HifiRE{20M | FULL},

31T

:CHAN1:BWL 20M FIFF@E 1 B9 20MHz HEapRE,
:CHAN1:BWL? EifiR[E 20M,

:CHANnel<n>:COUPling

>

S E:

:CHANnel<n>:COUPling {DC|AC|GND}

:CHANnel<n>:COUPIling?

ThaesEik :

BT REBENSEESI. DC (BR) FrUBIRASSHRRMERSE: AC (R
i) FTEEBMAESHERSE; GND (IFi) FRRMTFHANES.

<n>: {1)2|3]4}, BIFRR{CH1|CH2|CH3|CH4},

IREEE:

&Hig AC. DC 7 GND,

24450

:CHAN1:COUP DC REBE 1 (9BaAAER.
:CHAN1:COUP? &ifikE DC,

:CHANnel<n>:DISPlay

>

>

S E:

:CHANnel<n>:DISPlay { {1|ON} | {O|OFF} }
:CHANnel<n>:DISPlay?

ThaesEik :

BTiREEEBE ON (¥J7F) 8 OFF (KHF) .
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<n>: {1|2[3]4}, DBIFRT{CHT|CH2|CH3|CH4},

> IREHER:
&=aRE 1 8 0, £81HLEF ON 5 OFF,
> )
:CHAN1:DISP ON FIEE 1
:CHAN1:DISP? HiERE 1, FTRELFTHEE 1.

:CHANnel<n>:INVert

> miE:
:CHANnel<n>:INVert { {1|ON} | {O|OFF} }
:CHANnel<n>:INVert?
> IDEEREA:
RTFRERFRENEES ON (FIFFRFREINEE) 8 OFF (IREKIEEER) .
<n>: {1]2|3|4}, 2BIFE{CHT|CH2|CH3|CH4},

> IREE:
=fRE 1 8 0, £5LE ON 5 OFF,

> %l
:CHAN1:INV OFF XAEE 1 HREERIEE
:CHANT:INV? HiFiRE 0, FREXAEE 1 RIEHEE

:CHANnel<n>:PROBe:TYPe

> wtE:
:CHANnel<n>:PROBe:TYPe {VOLTs | AMPeres }
:CHANnel<n>:PROBe:TYPe?

> IDHEHEAR:
FBATFIRE SRS MATIRLSERL, VOLTs FrEE, AMPeres FRETR.
<n>: {11234}, oBIF={CH1|CH2|CH3|CH4},

> IREHE:
HiREIRKREERLEE,

> E4f:
:CHAN1:PROB:TYP AMPeres REEE 1Rk ERRL,
:CHAN1:PROB:TYP? &HifiR[a] AMPeres,

:CHANnel<n>:PROBe

> wSE:
:CHANnel<n>:PROBe { <probe> }
:CHANnel<n>:PROBe?

> TDRESEIR:
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BAFiRESHRLEMNANRL R RRESE, RL=RETEE 0.001X~20000X,
<probe>: IRILBEEXNEHEZUE.
<n>: {112|3]4}, $BIFR(CH1|CH2|CH3|CHA4],

IREHEI:

ERREIREERAMRLREL, IREFLEMSEE, RARNSETEE, 84 X,
) -

:CHAN1:PROB 10X REBE 1 RL=REZN 10X,
:CHAN1:PROB? ZiFiRE 1.000000e+01,

:CHANnel<n>:OFFSet

>

i SHE:

:CHANnel<n>:0OFFSet <offset>

:CHANnel<n>:OFFSet?

ThEesEiA :

AT RERAEEE SR LRI,

<n>:{1|2|3]4|5|6]7|8|9}, &5IZF7~{ CH1|CH2|CH3|CH4|MATH|REFA|REFB|REFC|REFD},
IREEE:

HifIRE offset MNIRE(E, RARKFAITENE, B V.

251 :
:CHANT1:OFFS 20V REEE 1 EEMBEA 20V,
:CHAN1:OFFS? E=85R[E] 2.000e001,

:CHANnel<n>:SCALe

>

i SEN:

:CHANnel<n>:SCALe {<scale> | UP | DOWN}
:CHANnel<n>:SCALe?

TheefEiz :

AR E K EER T [ L ATSATEAL,

<scale>: {ATEHEAIE;

UP: /NiREs SRR ER En—;

DOWN : 7RiREs RIS R EiF—.
<n>:{1|2|3]4|5|6]7|8|9}, &5IZF7~{ CH1|CH2|CH3|CH4|MATH|REFA|REFB|REFC|REFD},
IREHE:

EREIRIEISMNSERIE, RARFATENE, 86 V.

251 :

:CHANT1:SCAL 20V REBEE 1 KSR 20V,
:CHAN1:SCAL? E=85R[E] 2.000e001,
:CHAN1:SCAL UP £ 20V (R84 _Ehn—#4,
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>

:CHANnel<n>:UNITs

anStEa:

:CHANnel<n>:UNITs {VOLTs|AMPeres| WATTs|UNKNown}

:CHANnel<n>:UNITs?

ThnesiA :

BTREBESAA VOLTs (BE) . AMPeres (FBift) . WATTs (Ih=) . UNKNown
(RA) .

. D BIFRR{CH1|CH2|CH3|CHA4},

ZEHg:

EH8R[E] VOLTs., AMPeres, WATTs & UNKNown,

e -

:CHANT:UNIT VOLT REBE 1 BAINBE
:CHANT:UNIT? &EifikE] VOLTs,

:CHANnel<n>:VERNier

>

wmSigt:

:CHANnel<n>:VERNier { {1|ON} | {O|OFF} }

:CHANnel<n>:VERNier?

ThEesEiA :

RAFeESMETLH. ZIREA ON (FIF7F) BARE (Fine) , MEEAREIRETCE
ZEH—ZHy, LISEEEDHER, HigE/ OFF (X)) B9tEE (Coarse) , #Hi%
1-2-5 HENREEERIE.

<n>: {1)2|3]4}, B BIFRR{CHT|CH2|CH3|CHA4},

IREIE:

#=HifmiRE 1 5 0, 23Kk ON % OFF,

50 -

:CHAN1:VERN ON FIFFEE 1 EThaEE.
:CHAN1:VERN? HigRE 1

:CHANnel<n>:SELect

>

i SHE:
:CHANnel<n>:SELect
:CHANnel<n>:SELect?
TheefEiz :
FRFiEREE,
<n>:{1]2|3]4
iZElE:
#=ifmiRE 1 5 0.

5(67|8]9}, 4B R{CH1|CH2|CH3|CH4|MATH|REFA|REFB|REFC|REFD},
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> Hpl:
:CHAN1:SELect EIREE
:CHAN1:SELect? = [|]
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TIMebase &

AT HESRBERKTFAE (HE) MRERTHRIREUE (MALE) . BEIKTFAE
SAERIANFRRLY Kalds, SRR UENEREARS TREP OV ESRE.

:TIMebase:MODE

>

i SHE:

:TIMebase:MODE {MAIN | WINDow}

:TIMebase:MODE?

ThEesEiA :

FAFRERERIL, MAIN (ERE) 5 WINDow (4EmETE <Zoomed>) .
IBEHE:

=iERE] MAIN 5 WINDow,

24450

:TIM:MODE MAIN REMEELAENE,
:-TIM:MODE? #=ifRE MAIN,

:TIMebase:OFFSet

>

i SHE:

:TIMebase:OFFSet <offset>

:TIMebase:OFFSet?

ThEesEiA :

FFAZ MAIN (£RE) HEREE, BNREAEENERTOR RS,
IBEEI:

HifiRE| <offset>{H, KARFIHEE, B9s.

24450

TIM:OFFS 1s RETHEMBEN 1s,
:-TIM:OFFS? #HiEix[E] 1.000e000,

:TIMebase:WINDow:OFFSet

>

Y

i SHE:

:TIMebase:WINDow:OFFSet <offset>

:TIMebase:WINDow:OFFSet?

ThEEsEiA :

FBF/E% WINDow (48FAtE <Zoomed>) FIER®EE, RIEAIEENERSONR

IREER:
&HifliRE <offset>{H, KEARFITENE, BAISs.
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> %l

TIM:WIND:OFFS 1s IZE WINDow BIE{RBEA 1s.
TIM:WIND:OFFS? &i8ix[a] 1.000e000,

:TIMebase:SCALe

> SN
:TIMebase:SCALe {<scale> | UP | DOWN}
:TIMebase:SCALe?

> IgeHER:
FAFigE MAIN (E8E) RRTERGZ, BD s/div (FV/48) .
<scale>: RIERSAIE;
UP: /NiKEsSRIAAER En—;
DOWN : 7RISR DR —,

> IRERER:
EifIRE< scale>{E, RARIFIHENE, BALA s/div,

> E4f:
TIM:SCAL 2s REFHERBEN 25/div,
:TIM:SCAL? &EHiFiR[E 2.000e000,

:TIMebase:WINDow:SCALe

>  wSEN:
:TIMebase:WINDow:SCALe < scale >
:TIMebase:WINDow:SCALe?
> IfgeHEiA:
FIFi%E WINDow (4EREtE <Zoomed>) BFERYNz, B s/div (FB/H8) .

> IRERER:
EifIRE< scale>{E, RARFIHENE, BALA s/div,

> )
:TIM:WIND:SCAL 2s 1%E& WINDow FTERBEN 2s/div,
TIM:WIND:SCAL? ZAIRME] 2.000e000,

:TIMebase:HOLDoff

> wSEN:
:TIMebase:HOLDoff <time>
:TIMebase:HOLDoff?
> IgeiER:
FRTFREMARNEIE, SBE 100ns~10s,
> iREHE:
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EHRERAIRENE. RARFEIHEGE, BAIA s,

> E4f:
:TIM:HOLD 1s REARDENEA 1s.
TIM:HOLD? &E=iFR[E 1.000e000,




FUNCtion %

FBFE= CH1. CH2, CH3, CH4 @&, #. . br. 5. . FE. FELAKR FFT &
E;—E’E] % 'IXEM,I&E% *Uﬁﬁ%ﬁﬁ@ o

:FUNCtion:MATH:MODE

>

I SHEI:

FUNCtion:MATH:MODE {MATH|FFT|LOGic|FILTer|ADVance}
FUNCtion:MATH:MODE?

Thiessid :

FATF %% MATH IhgetE,

IREHE:

HFIRE{MATH|FFT|LOGic|FILTer|]ADVance},

3R

FUNC:MATH:MODE FFT B MATH 18300 FFT 1R=
FUNC:MATH:MODE? HifiR[E FFT

:FUNCtion:OPERation

>

i SHE:

:FUNCtion:OPERation {ADD | SUBTract | MULTiply | DIVide | AND | OR | NOT | XOR }
:FUNCtion:OPERation?

ThEesEiA :

RTFRERHZEF, BEAEEEE. o308, &, k. R 5. &%. . JK
IZEHE:

EABRIEHADD | SUBTract | MULTiply | DIVide | AND | OR | NOT | XOR },

450 -
:FUNCtion:OPERation ADD {ERRMEIMR/ERFSCIN: srcl+src2
:FUNCtion:OPERation? #HifiR([E] ADD

:FUNCtion:DIGital<n>:THReshold

>

i SHE:

:FUNCtion:DIGital<n>:THReshold <value>
:FUNCtion:DIGital<n>:THReshold?

ThEEsEiA :

AT REEEBERZERE, K FZEERET, /MNTFEEO., Hf nEYE 1. 2
iZEHE:

&#ifx[a] 1.000e000, BEf7AV,

25451 :
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‘FUNC:DIG1:THR 1V wEEE 1 ZERIEN 1V
:FUNC:DIG1:THR? &ifiR([E 1.000e000

:FUNCtion:SOURce<m>

> wSEN:
:FUNCtion:SOURce<m> {CHANnel1| CHANnel2| CHANnel3| CHANnel4}
:FUNCtion:SOURce<m>?

> IfgeHEiA:
SOURce<m>FKiE 1 &R 2, Hep<m>E&ER 1.
SOURcel FFIBERERAEFRENE—NR, m_ﬂ’ﬁb Filter. FFT B98E—IR,
SOURce2 AT ISR ERFEFREAISB IR, Filter, FFT HFBR—JREAER,
<value>Z&x CHANnel<n>, Hreh<n>BYEH 1/2/3/4{CH1/ CH2/ CH3/ CH4},

> IREHE:
&#ifk[E] CHANnel1, CHANnel2, CHANnel3 #& CHANnel4,

>
:FUNCtion:SOUR1 CHAN1 B—EBEEAE—NR
:FUNCtion:SOUR1? EifiRE] CHANnel1
:FUNCtion:SOUR2 CHANZ2 BBEEAEZNR
:FUNCtion:SOUR2? EifiRE] CHANnel2
:FUNCtion:OPERation ADD BIRE—FIE EEEm

:FUNCtion:FFT:WINDow

>  atEa:
:FUNCtion:FFT:WINDow {RECTangular|[HANNing|HAMMing|BMAN|FLATtop}
:FUNCtion:FFT:WINDow?

> IDHEHEAR:
FFT IIE&EBYSS. RECT. HANN, HAMM, BMAN. FLAT SBI%EFE. XTH. X
AE. mXREHE. FINE.

> iBEER:
#ifiR[E{ RECTangular|HANNing|HAMMing|BMAN|FLATtop }.

> &5
:FUNCtion:SOUR1 CHANT1 B—maEEriR
:FUNC:FFT:WIND HAMM IniXBAE
:FUNC:FFT:-WIND? &ifiRE HAMMing

:FUNCtion:FFT:DISPlay

> o
:FUNCtion:FFT:DISPlay {FULL| SPLIt| WATerfall1| WATerfall2| INDependent}
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:FUNCtion:FFT:DISPlay?
> IgeHER:

BF&E FFT 8582,
> IREER:

&HifR[E{FULL| SPLIt| WATerfall1| WATerfall2| INDependent }, FULL A2R&E, SPLIt
Vb

&7, INDPendent "8 B73= FFT 4, WATerfall1 J9i8%E 1, WATerfall2 i87%E 2,
> E4f:

:FUNCtion:FFT:DISPlay FULL RE FFT £RExR

:FUNCtion:FFT:DISPlay? iR[E] FULL

:FUNCtion:FFT:WATerfall:SLICe

> weE:
:FUNCtion:FFT:WATerfall:SLICe <value>
:FUNCtion:FFT:WATerfall:SLICe ?

> IDHEHER:
FATi%&sE FFT ZMERI AR, EESEE 1~200,

> iREHE:
EHRIREISANEREESE LA ER.

>
:FUNCtion:FFT:WATerfall:SLICe 100 RE FFT EMENEIES 100 tiHER
:FUNCtion:FFT:WATerfall:SLICe ? &ifik[E] 100

:FUNCtion:FFT:POINts

> o
:FUNCtion:FFT:POINts {8K| 16K| 32K| 64K| 128K | 256K | 512K | 1M}
:FUNCtion:FFT:POINts?

> THREREIA:

FIF&E FFT ML,
> IEEgR:
EEIR[ENSK| 16K| 32K| 64K| 128K | 256K | 512K | 1M},
> Bl
:FUNCtion:FFT:POINts 8K RE FFT =889 8K
:FUNCtion:FFT:POINts? IR[E] 8K

:FUNCtion:FFT:VTYPe

> s
:FUNCtion:FFT:VTYPe {VRMS|DBRMS}
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:FUNCtion:FFT:VTYPe?

> IhHEHEAR:
%8R FFT EEHA AL dBRMS 8i& VRMS, dBRMS RRINE SR, VRMS Rix
BEE51R.

> IRE#ER:
BEiFiRE{VRMS|DBRMS},
> %l
:FUNCtion:SOUR1 CHAN1 B—EEENR
:FUNC:FFT:VTYP VRMS RE FFT EEHARNRABEY SR
:FUNC:FFT:VTYP? &Hifik[E] VRMS

:FUNCtion:FFT:FREQuency

> moE:
:FUNCtion:FFT:FREQuency?

> IDHEHER:
%18 FFT 2 EAmERIAIR T,

> IREfE:
EEREBTE RO, BAL9 Hz,
> g4
:FUNCtion:FFT:FREQuency? &EifiR[E] 1.000e003

:FUNCtion:FFT:FREQuency:STARt

> moE:
:FUNCtion:FFT:FREQuency:STARt <freq>
:FUNCtion:FFT:FREQuency:STARt?

> INEEfEIR:
IRE FFT AU,

> REE:
EHiRE] 1.000e003, BT A Hz,

> Bl
:FUNCtion:FFT:FREQuency:STARt 1KHz IREIRITES 1KHz
:FUNC:FFT:FREQ:STARt? EifiRE 1.000e003

:FUNCtion:FFT:FREQuency:END

> SR
:FUNCtion:FFT:FREQuency:END <freq>
:FUNCtion:FFT:FREQuency:END?

> IDHEHER:
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>

>

>

RE FFT BU&1EMER,

IREfER:

&HifiR[A] 1.000e003, EA{ii9 Hz,
37
:FUNCtion:FFT:FREQuency:END 1KHz
:FUNC:FFT:FREQ:END?

:FUNCtion:FFT:FREQuency:CENTer

S

:FUNCtion:FFT:FREQuency:CENTer <freq>

:FUNCtion:FFT:FREQuency:CENTer?
ThsesEiA :

RE FFT B0,

R[EHE:

&HifiR[E] 1.000e003, {5 Hz,

251
:FUNCtion:FFT:FREQuency:CENTer 1KHz
:FUNC:FFT:FREQ:CENTer?

:FUNCtion:FFT:FREQuency:BW

anStE:
:FUNCtion:FFT:FREQuency:BW <freq>
:FUNCtion:FFT:FREQuency:BW?
TresiA :

RE FFT AUAETE,

IREfE:

&[] 1.000e003, B{if Hz,
3R

:FUNCtion:FFT:FREQuency:BW 1KHz
:FUNC:FFT:FREQ:BW?

:FUNCtion:FFT:FREQuency:TRACk

S

IREZRIEER) 1KHz
&Hifik[E] 1.000e003

REHOIES 1KHz
&Hi8&[E] 1.000e003

REMFETERN 1KHz
#ifix[a] 1.000e003

:FUNCtion:FFT:FREQuency:TRACk {{1 | ON} | {0 | OFF}}

:FUNCtion:FFT:FREQuency:TRACk?
ThnesiA :

RE FFT RORERIRIGF K.

IREHE:
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EEREPRRIFERIATS, 0 KRR, 1 #TRIRE.

> &l
:FUNCtion:FFT:FREQuency:-TRACk ON FIFHRERIR R
:FUNCtion:FFT:FREQuency:TRACk? =HifiRE 1

:FUNCtion:FFT:DETEction:REALTime

> adER:
:FUNCtion:FFT:DETEction:REALTime {PPEAK|NPEAK| AVERage| SAMPIle}
:FUNCtion:FFT:DETEction:REALTime?

> INEEfEIR:
IRE LRSS AR,
PPEAK: BNEMIRXEANERAE: NPEAK: BEMIRKXERAIR/IVE; AVERage:
I MhEXERATFSE; SAMPle: EMNHAXBRSE— N EAE.

> IRERER:
ERIREISEAT SRR R,

> )
:FUNCtion:FFT:DETEction:REALTime PPEAK i8E AT ATKRIETN A + IBEEK
:FUNCtion:FFT:DETEction:REALTime? &ifiR[E] PPEAK

:FUNCtion:FFT:DETEction:AVERage

> SR
:FUNCtion:FFT:DETEction:AVERage {OFF|PPEAK|NPEAK| AVERage|SAMPle}
:FUNCtion:FFT:DETEction:AVERage?

> INeEHEIA:
REFIESERIRIRT.
OFF: XIFFHENE, PPEAK: BB MHRKEMNNEAE; NPEAK: BEMIRXIE
WAYER/IME; AVERage: RS MHRXIBERAIFIYE, SAMPle: B MIRKXERNE—
TREYE.

> IREfEN:
EERENEHESE R IRART .

> g4
:FUNCtion:FFT:DETEction:AVERage PPEAK iR & FIHESMEAISIRETNA + IBERK
:FUNCtion:FFT:DETEction:AVERage? &ifiR[E] PPEAK

:FUNCtion:FFT:DETEction:AVERage:COUNt
> adfER:

:FUNCtion:FFT:DETEction:AVERage:COUNt <value>
:FUNCtion:FFT:DETEction:AVERage:COUNt?
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> INgEHEIAR:
REFISNENFIRE, ®’REEE 2~512,

> IEEHE:

EEEIERNTILREL,
> )

:FUNCtion:FFT:DETEction:AVERage:COUNt 56 REEYEIEFEIIRE 56
R

:FUNCtion:FFT:DETEction:AVERage:COUNt?  #ifjix[E] 56
:FUNCtion:FFT:DETEction:MAXHold

> aSER:
:FUNCtion:FFT:DETEction:MAXHold {OFF|PPEAK|NPEAK|AVERage|SAMPle}
:FUNCtion:FFT:DETEction:MAXHold?

> INEEfEIR:
RERKERFFUEIVRIRIE.
OFF: XIAFIYEMIE, PPEAK: BB NMHRKENNEAE; NPEAK: BEMHRXIE
REYE/IME; AVERage: BB/ MNHRXIBAIIFIIE;
SAMPle: BIENMHRKEIRNSE— 1 RAYE.

> IRE#ER:
BiREIRAERFIUSEAERIEDR.
> EEfl:

:FUNCtion:FFT:DETEction:MAXHold PPEAK
RERARIFIEAMCIRETU D + EEIGK
:FUNCtion:FFT:DETEction:MAXHold?
AEifiR[E] PPEAK

:FUNCtion:FFT:DETEction:MINHold

> antEa:
:FUNCtion:FFT:DETEction:MINHold {OFF|PPEAK|NPEAK| AVERage|SAMPIle}
:FUNCtion:FFT:DETEction:MINHold?

> IDHEHER:
RER/IMERFHBIEANG IR,
OFF: XAYEMIE; PPEAK: INEMHRXERRIRZAE; NPEAK: BEMHRKXIE
WAYE/ME; AVERage: BNEMHRXIBARAIFIE;
SAMPle: BB MHRKXERE—RIVE.

> REHER:
BifRESR/IMERFIEEREL.
>

:FUNCtion:FFT:DETEction:MINHold PPEAK & &STEHIE iE + IEEERK
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:FUNCtion:FFT:DETEction;:MINHold? &HifR[E] PPEAK

:FUNCtion:FFT:DETEction:RESet

>

mSE:

:FUNCtion:FFT:DETEction:RESet

ThREREA :

RFEEYE. &XRE. &IMRETE.

) -

:FUNCtion:FFT:DETEction:RESet EERINE

:FUNCtion:FFT:MARK:TYPE

>

i SE:

:FUNCtion:FFT:MARK:TYPE {OFF|AUTO|THReshold| MANUal}
:FUNCtion:FFT:MARK:TYPE?

ThEEsEiA :

REINEIRCIEE,

OFF: XFBTEtric; AUTO: BniiiEtnic; THReshold: [IRSTE RS, MANUal:
FoERIC.

IREEE:

HifRE| SRR ROEE,

24450

:FUNCtion:FFT:MARK:TYPE AUTO REIERCEE AERG
:FUNCtion:FFT:MARK:TYPE? &HifiR[E AUTO

:FUNCtion:FFT:MARK:SOURce

>

i SHE:

:FUNCtion:FFT:MARK:SOURce {REALtime|AVERage|MAXHold|MINHold}
:FUNCtion:FFT:MARK:SOURce?

ThEEsEiA :

IREINETRCARICIR, HHESIMETRCEREBHAES.

REALtime: #RCEATSIIE; AVERage: tRICHESIE; MAXHold: TRICERAIREHRIL;
MINHold: #RC&/IMREBTIE.

IREE:

EHRRE HRIERARCR,

2451

:FUNCtion:FFT:MARK:SOURce AVERage iR BIiEirCHIFRCIRAIEITILE
:FUNCtion:FFT:MARK:SOURce? &ifiR[E] AVERage
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:FUNCtion:FFT:MARK:POINts

>

i SHE:
:FUNCtion:FFT:MARK:POINts <value>
:FUNCtion:FFT:MARK:POINts ?
ThEesEiA :

REINETRCATRICREL.

<value>: RCHREHVE, SEE 1~50,

IREER:

BHEREBUERCAIRCREL.

245«

:FUNCtion:FFT:MARK:POINts 20 EEIETRCA R RELS 20
:FUNCtion:FFT:MARK:POINts ? Hifik[E 20

:FUNCtion:FFT:MARK:EVENt

>

S
:FUNCtion:FFT:MARK:EVENt {1 | ON} | {O | OFF}
:FUNCtion:FFT:MARK:EVENt?

ThgeHsiA:

S TRCF I FFE K IRCSIER.

IREER:

EFRCYIFRITIRES, 1 £R=ITH, 0 Tk,
50 -

:FUNCtion:FFT:MARK:EVENt ON FIFRCHIE
:FUNCtion:FFT:MARK:EVEN{t? HiiRE 1

:FUNCtion:FFT:MARK:DATA?

SR

:FUNCtion:FFT:MARK:DATA?

TngeHEiA:

BT EEUREERAY FFT FHRCSAREUE.

IREHE:

HifiRE| FFT MRICEHFEEE, REINSUERFSMRE 2: |EEE 488.2 ZHEI#HEIE.
24451

:FUNCtion:FFT:MARK:DATA?ZiflR[A]:

#9000000089FFT,

ID,Freq,Amp,

1,1.000E+003,7.800E-001,
2,2.000E+003,7.900E-001,
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3,3.000E+003,7.700E-001,

4,4.000E+003,7.300E-001,

5,5.000E+003,7.400E-001,

FFT 3= FFT #8520, [RERR CSV RS HRE, SUHRMENERSIIAARERE
Babidlc, #ELIESHTH, SRIETIRINITENHRT.

:FUNCtion:FFT:MARK:THReshold:LEVel

> SN
:FUNCtion:FFT:MARK:THReshold:LEVel <value>
:FUNCtion:FFT:MARK:THReshold:LEVel?
> IgeHEIA:
RE PRIERCHY JFREE.
<value>: [JFREE/E(E, HFEHBMA Vrms B, BMA YV, HFEHHNLH dBVrms AT,
B9 dB; ZRSEERNAIER, RELH.
> IREER:
ERREIERCRIEE, LARFAITEGER R, B{5:FUNCtion:FFT:VTYPe 18X,
>
:FUNCtion:FFT:MARK:THReshold:LEVel -12.5dB i&&| PRTiE 289 IR -12.5dB

:FUNCtion:FFT:MARK:THReshold:LEVel? &ifiR[E]-1.250e-001

:FUNCtion:FFT:MARK:THReshold:LEVel 0.15V RE RS tRCH IRA
0.15v

:FUNCtion:FFT:MARK:THReshold:LEVel? &ifiR[a] 1.500e-001

:FUNCtion:FFT:MARK:MANUal:PEAK

> SR
:FUNCtion:FFT:MARK:MANUal:PEAK
> ThEEHEIR:
FF SR EIRAIEEL .
>
:FUNCtion:FFT:MARK:MANUal:PEAK RN R AIEEL

:FUNCtion:FILTer:TYPE

> @tE:
:FUNCtion:FILTer:TYPE {LP|HP|BP|BS}
:FUNCtion:FILTer:TYPE?
> TDRESEIR:
IREIRIKEREE, LP, HP, BP, BS DBIFRNMREENAE, SEIEKEE, wRISKE,
BELRERZER
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>

>

>

>

IREIfE:
&ifR[E LP, HP, BP, BS,

) -

:FUNCtion:SOUR1T CHAN1 BEE—{EAR
:FUNC:FILT:TYPE BP RENTIEIGKES
:FUNC:FILT:TYPE? EifikME BP

:FUNCtion:FILTer:FREQuency:HIGH

mSE:

:FUNCtion:FILTer:FREQuency:HIGH < freq>
:FUNCtion:FILTer:FREQuency:HIGH?

ThaefEi :

REEIKEE LIREILERE, ERTEEEKES. TREKeS. HEEKES,
REfER:

&[] 1.000e003, 2S5 Hz,

251

:FUNCtion:SOUR1 CHANT1 B—EEENE
:FUNC:FILT:FREQ:HIGH 1KHz REISKES LR/ TKHz #LESRER
:FUNC:FILT:FREQ:HIGH? &Hifik[E] 1.000e003

:FUNCtion:FILTer:FREQuency:LOW

anStE:
:FUNCtion:FILTer:FREQuency:LOW <freq>
:FUNCtion:FILTer:FREQuency:LOW?

IngesEiA

REISKES LIRELNRE, ERTRERKES. wIERKeS. wHRISIKES.
iZEHE:

EiIR[E] 6.000e001, EfIA Hz,

45 -

:FUNC:SOUR1 CHANT1 B—BEENR
:FUNC:FILT:FREQ:LOW 60Hz REIRIRES NIR/9 60Hz & LESTER
:FUNCFILT:FREQ:LOW? E=iFiRME] 6.000e001

:FUNCtion:LOGic:INVert

wmSigt:

:FUNCtion:LOGic:INVert {{1|ON}|{0|OFF}}
:FUNCtion:LOGic:INVert?

ThEEsEiA :
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BTREZENREINEEN ON & OFF,

> IRERER:
&=aRE 1 8 0, £81HLEF ON 5 OFF,

> Bl
:FUNCtion:LOGic:INVert OFF KHAIRAELRE,
:FUNCtion:LOGic:INVert? HiFiRE 0, BEREXA.

:FUNCtion:EXPRession

>  atEa:

:FUNCtion:EXPRession <expression>
> IDHEHER:

FABBRESRANHTHFITE.

FIAE T WRIEZEE T MATH 3BT Advance 10, <expression>EF ASCII =&
> &l

:FUNCtion:EXPRession "CH1*CH2" FBEE—MER.

35/133



MEASure 5%

BT RESEESINERRE, IESHNEEATEITEMEREEINEE, FIATKE
EERBEmFIFNEFKEE BELURFTELREINESR,

:MEASure:ALL

> WS
:MEASure:ALL {{1 | ON} | {0 | OFF}}
:MEASure:ALL?
> ThEEEIA:
AT IR XA ITNEINEE.
> iIREHE:
EHREEEFTFEERUEINRE.
> &4
:MEASure:ALL ON FIF £ ERNETN8EE
:MEASure:ALL? H=iFiRE] 1

:MEASure:CLEar

> S
:MEASure:CLEar
> IgeHER:
AT ERISUENSHE, ZAIRFTUEEEE.
> Bl
:MEAS:CLE ERAERIIENSEE

:MEASure:SOURce

> @atE:
:MEASure:SOURce <source>
:MEASure:SOURce?
> IDHEHEAR:
RATIEENEIR. <source>J3 CHANnel<n>, HefnEUE 1. 2, 3. 4,

> REER:
&HifRE{CHANnNel1 | CHANnel2 | CHANnel3 | CHANnel4 | MATH },
> Efl:
:MEAS:SOUR CHAN1 EEEE— N ER
:MEAS:SOUR? 1R[E] CHANnel1
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:MEASure:SLAVe:SOURce

> S
:MEASure:SLAVe:SOURce <source>
:MEASure:SLAVe:SOURce?
> ThEEREIA:
FRATF®FNEMNSIR, <source>J3 CHANnel<n>, HefnHUE 1. 2, 3. 4,

> IEEHgR:
&HifRE{CHANnNel1 | CHANnel2 | CHANnel3 | CHANnel4 | MATH },
>
:MEAS:SLAV:SOUR CHANT1 EREE— ISR
:MEAS:SLAV:SOUR? 1x[E] CHANnNel1

:MEASure:STATistic:DISPlay

> @tE:
:MEASure:STATistic:DISPlay { {1|ON} | {O|OFF} }
:MEASure:STATistic:DISPlay?

> TDREHEIR:
RBTFIFSRANESITTIEE, ON (FI1FF) 8 OFF (X)) .

> IRERER:
=fRE 1 8 0, 55IfK& ON 8 OFF,

> E4f:
:MEASure:STATistic:DISPlay ON FIFFNES it Ih8EE
:MEASure:STATistic:DISPlay? H=ifRE 1

:MEASure:STATistic:RESet

>  mSER:
:MEASure:STATistic:RESet
> TheekdiR:
FF kR B A SR FH ERSIT.
> &)
:MEASure:STATistic:RESet BRI SRR IEH ER ST

:MEASure:STATistic:ITEM

> antEa:
:MEASure:STATistic:ITEM <item>
:MEASure:STATisticITEM? <type>,<item>
> TDHEHEAR:
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B EEER SN R I E SR S ST 45
<item>FRRNKFESE:
{VMAX|VMIN|VPP|VTOP|VBASe|VAMPIlitude|VAVerage|CYCVAVerage| VMIDdI
e|VRMS|ACRMS|CYCRMS|AREa|CYCAREa|FREQuency|PHASe|PERiod|OVERsho
ot|PREShoot|RISetime|FALLtime|PWIDth|[NWIDth|PDUTy|NDUTy|PDELay|NDE
Lay|PULSes|FRR|FRF|FFR|FFF|LRR|LRF|LFR|LFF}.

<type>FRFit#EA . {MAXimum|MINimum|CURRent|AVERages|DEViation},
SRIRFERAE. &IME. HEE. FIE. BHE.

> IEEHE:
BEREISRITHER, DREITHEGAREL,
> Bl
:MEASure:STATistic:ITEM CYCVAV FIFF RSN ES T IhEE

:MEASure:STATisticIITEM? MAX,CYCVAV REBPRFEYRIT &R KE
1.120e000

:MEASure:WINDow

> S
:MEASure:WINDow {SCReen | CURSor}
:MEASure:WINDow?

> THEEREIA:
FAF&SENEMNEOXIE, SCReen IEANEE, CURSor AYEHRXIE,
HpMEXIEAEARXER, #:CURSor:CURAX #1:CURSor:CURBX 5 AZEIIE Y
T EEESEEL

> IREHE:
&ifiR[[E{SCReen | CURSor}

> &4
:MEASure:WINDow CURSor RENENEO XY RUE X
:MEASure:WINDow? HifiR[E] CURSor

:MEASure:THReshold:DEFault

> SR
:MEASure:THReshold:DEFault <source>
> IgeHER:
BFRERERMNME, TREMEAN 10%, FREEES 50%, LREHES 90%;
<source>3~{CHANnel1| CHANnel2| CHANnel3| CHANnel4 | MATH},
> E4f:
:MEASure:THReshold:DEFault CHANnel1 REBEE—RENRIAME
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:MEASure:THReshold

> S
:MEASure:THReshold <source> [,<lower>][,< middle>][,<upper>]
:MEASure:THReshold? <source>

> ThEEREIA:
FAFRENEEENE F<source>fY E . TREE, rTEMIRE E. B, TREE,
HEFIATERE. ER, 8. STHSHINE,
<source>Z{CHANnel1| CHANnel2| CHANnel3| CHANnel4 | MATH},
<lower>BUER 5% - 93%;<middle>BUE 6% - 94%;<upper>BUYEN 7% - 95%,

> IREER:
HARE . . TRUEEE, XARFETHNE, 8%,

>
:MEASure:THReshold CHANnel1,20,40,80 REBE—UESEL. P, THRE
:MEASure:THReshold? CHANnel1 & 18 iR [a] 2.000e001, 4.000e001,
8.000e001
:MEASure:THReshold CHANnel1,,40 REBE—NEREFRE 40%

:MEASure:PDUTy?

>  wSEN:
:MEASure:PDUTy? [<source>]
> IfgeHEiA:
RATNEREEBEKFINIEALSSTI. HEd<source>HEE/3 CHANnel1, CHANnel2,
CHANnel3 | CHANnel4 5 MATH, ERFrHFIEE.
> IREER:
E=iFiRME] 5.000e001, 8%,

:MEASure:NDUTYy?

> o
:MEASure:NDUTy? [<source>]

> ThEEHEiR:
ATFUEEEEE R NR S, HEd<source>EU{EY CHANnel1, CHANnel2,
CHANnel3 .| CHANnel4 8 MATH, &l&&X4ENEE,

> iREER:
&HifiR[E 5.000e001, Ef7%.

:MEASure:PDELay?

> SN
:MEASure:PDELay? [<sourcel>,<source2>]
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> IgeEiR:
BT ME&E <sourcel> . <source2>#E3TF EFHBEHEZEIR., EH <source>EUE A
CHANnel1, CHANnel2, CHANnel3 . CHANnel4 8¢ MATH,
> IRERER:
&EifiR[E-1.000e-004, BARIA s,
> Ef:
MEARRS T EFHERYBTEREIR
:MEASure:PDEL? CHAN1,CHAN2

:MEASure:NDELay?

> woE:
:MEASure:NDELay? [<source1>,<source2>]

> IgeHER:
BT ME&E <sourcel>. <source2>ETF FIE BN EZEIR., EHe <source>EUE S
CHANnel1, CHANnel2, CHANnel3 . CHANnel4 8¢ MATH,

> REHER:
#E=1595K[E]-1.000e-004, E{([A s,
>

MERERN T FRFGRIRTIEZER
:MEASure:NDEL? CHAN1,CHAN?Z2

:MEASure:PHASe?

>  woigH:
:MEASure:PHASe? [<sourcel>,<source2>]
> TheekdiR:
FIF Rt & <source1>18XtF <source2 > BRIEE H/GHIRTEIE, LUEZFRZ, 360° 89—
BHA., Erh<source>HE\{EA CHANnel1, CHANnel2, CHANnel3 . CHANnel4 8
MATH,
> IEEHE:
E=iFiRE] 1.000e001, BAHE,
> )
ME <sourcel>#8¥4F <source2 > BRI E i EHIAT EE
:MEASure:PHAS? CHAN1,CHAN2

:MEASure:VPP?
> o

:MEASure:VPP? [<source>]
> IEEREIAR:
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AFlNEEEBERFENIEEE. H <source>H{E/9 CHANnell, CHANnel2,
CHANnel3 . CHANnel4 g8 MATH, SR&ERHBIEE,

> IREEI:
E=iEiR[E] 3.120e000, Ef/A V,

:MEASure:VMAX?

> wSE:
:MEASure:VMAX? [<source>]
> IgeHER:
RATFlUEEEBERINRAE. H¥ <source>H{E CHANnel1, CHANnel2,
CHANnel3 . CHANnel4 8 MATH, BIRFRMEIEE.
> iIREHE:
#EifiR[E 2.120e000, Bf{[A V,

:MEASure:VMIN?

> woiEH:
:MEASure:VMIN? [<source>]
> TheekdiR:
AFNEEEBERFENRIVME. HF <source>EUfE CHANnell, CHANnel2,
CHANnel3 | CHANnel4 8 MATH, &B8&RXa0EE,
> IEEHgR:
E=HiFRME-2.120e000, BEA A V.,

:MEASure:VAMPIlitude?

> o
:MEASure:VAMPIitude? [<source>]
> ThEEHEiR:
AFNEiEEEERTINiEgE., H9 <source>E{EA CHANnell, CHANnel2,
CHANnel3 | CHANnel4 8t MATH, BlRFRSaIEE.
> IREER:
HifiR([E] 3.120e000, A V,

:MEASure:VTOP?

> wSE:
:MEASure:VTOP? [<source>]

> IgeiEiR:
RATFUEEEBERININRE. H¥ <source>H{E CHANnel1, CHANnel2,
CHANnel3 . CHANnel4 8 MATH, BIRFRMEIEE.
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> IRERER:
EifiR(E 3.120e000, E(IA V,

:MEASure:VBASe?

> wSEN:
:MEASure:VBASe? [<source>]
> IgeiEiR:
RATFUEEEBERINERE. HF <source>H{E CHANnell, CHANnel2,
CHANnel3 . CHANnel4 8 MATH, BIERRYSRIEE
> IBEHE:
BEifiR[E-3.120e000, BAfRIA V,

:MEASure:VMIDdle?

> SN
:MEASure:VMIDdle? [<source>]
> IgeHER:
RAFNEiEEBERIAPE{E. He <source>EfEA CHANnell, CHANnel2,
CHANnel3 . CHANnel4 8 MATH, BIEERRUSRIEE
> IEEHE:
&EifiR[E 0.120e000, BA{IA V,

:MEASure:VAVerage?

> o
:MEASure:VAVerage? [<interval>][,<source>]

> ThEEHEiR:
RATFNEEEBEEKIINFEIYE, HEd <source>igE®E, B{E/ CHANnell,
CHANnel2, CHANnel3 . CHANnel4 8 MATH, WN5Ri&BIgE<source>, MIBKIAZY
BIBE; <interval>iSENEEIE, BYES CYCLle, DISPlay, H CYCle FEEEIR
[EHA, DISPlay ®~ekR, WMFRILBIEE <interval>, NIBAIA DISPlay,

> IRERER:
E=iFiRME] 1.120e000, BEHIA V,

:MEASure:VRMS?

> SR
:MEASure:VRMS? [<interval>][,<source>]

> IgeiEiR:
RAFNEEEBERINIEERE. BEd <source>iEEBE, BYE/N CHANnell,
CHANnel2, CHANnel3 . CHANnel4 55 MATH, tNIS8&BiEE<source>, MIEIAZY
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BIEE; <interval>i8ENE@IE, BYE N CYCLe, DISPlay, Erh CYCLe FREEEUEIR
[EHA, DISPlay F~ekR, WMFRIEBIEE <interval>, NIBAIA DISPlay,

> BEgR:
E=iEiR[E] 1.230e000, Ef/A V,

:MEASure:ACRMs?

> e
:MEASure:ACRMs? [<source>]

> IEEREIAR:
AT NEEEBERIA AC II5R(E, Hd <source>gE®@E, BEJ/I CHANnell,
CHANnel2, CHANnel3 . CHANnel4 8 MATH, WN5R&BIEE<source>, MIBKIAZY
AIEIE,

> IBEHE:
HifiRE] 1.230e000, Bf7A V.,

:MEASure:AREa?

> woiEH:
:MEASure:AREa? [<interval>][,<source>]

> TheekdiR:
RTFNEiEEBE R AIETR. HF <source>5EBE, BE/9 CHANnel1, CHANnel2,
CHANnNel3 | CHANneld 8 MATH, 1R ;&BIEE <source>, NMIEIALBEIEIE;
<interval>igENEAIE, A/ CYCLe, DISPlay, Hrer CYCle R-EEUEINEEA,
DISPlay £~&R, WME&HIEE<interval>, MZKIA DISPlay,

> IRERER:
EifiR[E] 3.456e002, N9 Vs,

:MEASure:OVERshoot?

>  wSEN:
:MEASure:OVERshoot? [<source>]
> IfgeHEA:
RATFUNEEEBEERFENE R, Hf <source>H{HEI CHANnell, CHANnel2,
CHANnel3 | CHANnel4 8t MATH, BlRFRSaIEE.
> IRERER:
&#Hifk[E] 1.230e002, B{i1A %,

:MEASure:PREShoot?

> woiEH:
:MEASure:PREShoot? [<source>]
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> IgEHEIR:
BFUEiEcBEERATUL. HAF <source>E{E CHANnell,
CHANnNel3 . CHANnel4 8% MATH, BIRERZSENEE

> IREHER:
EH185R[E] 1.230e-002, B A %.

:MEASure:FREQuency?

> S
:MEASure:FREQuency? [<source>]
> IEEREIAR:

BFUEEEEERFNMmE, HHf <source>EU{EA CHANnell,

CHANnNel3 . CHANnel4 gf MATH, B8R ~ZENHEE,
> iRERER:
&Hif&[E] 2.000e003, Efvy Hz,

:MEASure:RISetime?

> wmSE:
:MEASure:RISetime? [<source>]

> TaefEid:

BT NESEEERIA LFrgE. He<source>EUE7 CHANnell,

CHANnNel3 . CHANnel4 gf MATH, B8R ~ZENIEE,
> RO :
&HifiR[E] 5.000e-005, EAfiIs.

:MEASure:FALLtime?

> woiEH:
:MEASure:FALLtime? [<source>]
> TheekdiR:

BFNEEEBE R TRERE., B4 <source>EUE CHANnell,

CHANnel3 | CHANnel4 8 MATH, Ei8ERERIEE
> iR[EE:
Hiffik[E 5.000e-005, Hfis,

:MEASure:PERiod?

> wmoE:
:MEASure:PERiod? [<source>]
> IEEREIR:

BAFlNEEEEE RN ER. Ee <source>EU{ES CHANnell,

CHANnel2.

CHANnel2 .

CHANnel2,

CHANnel2,

CHANnel2 .

44 /133



CHANnel3 | CHANnel4 8 MATH, Ei8ERERIEE.,
> iR[EE:
EiEIR[E 5.000e-003, BT s,

:MEASure:PWIDth?

> SN
:MEASure:PWIDth? [<source>]
> IfgeHEiA:
AT NEiEEBEKRFAVIENKS. He<source>H{E/ CHANnel1, CHANnel2,
CHANnel3 | CHANnel4 8t MATH, BlFRSIEE.
> IEEHE:
E=ifiRME] 5.000e-003, Efiis,

:MEASure:NWIDth?

> SR
:MEASure:NWIDth? [<source>]
> TheEHEiR:
BFNEEeEE RN aikE. B <source>EEA CHANnell, CHANnel2,
CHANnel3 | CHANnel4 8t MATH, BlFRSAIEE.
> IEEHE:
E=ifiRME] 5.000e-003, Efiis,

:MEASure:PULSes?

> woigH:
:MEASure:PULSes? [<source>]
> TheekdiR:
FAFUEEEEERIZAER PN L. HF <source>EBE/ CHANnel1, CHANnel2,
CHANnel3 | CHANnel4 5 MATH, BRBRERYENEE,
> IEEgR:
EiFiR[E] 2.000e+000, T 2 NKH,

:MEASure:FRR?

> WS
:MEASure:FRR? <source1>,<source2>

> THREREIA:
FAF & <sourcel> 5 <source2>F— L Z [BHATE., EH <source>BE
CHANnel1, CHANnel2, CHANnel3 . CHANnel4 g MATH,

> IREER:
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EifiRE] 5.000e-003, EA{Is,

:MEASure:FRF?

>

i SHE:

:MEASure:FRF? <source1>,<source2>

TheefEiz :

F3F il & <sourcel>FE—N EFHB 5 <source2> E— N TG Z EKEFE, Ha
<source>HY\{EY CHANnel1l, CHANnel2, CHANnel3 . CHANnel4 8; MATH, &
R ERIEE,

IBEEI:

&EifiR[E 5.000e-003, Hifis,

:MEASure:FFR?

>

i SHE:

:MEASure:FFR? <source1>,<source2>

TheefEiz :

FAF & <sourcel>E— T [EIF 5 <source2> F— EFIFZBEIMNEE, He
<source>HYE N CHANnel1, CHANnel2, CHANnel3 . CHANnel4 5 MATH,
IBEE:

&EifiR[E 5.000e-003, Hifyys,

:MEASure:FFF?

>

mSigt:

:MEASure:FFF? <source1>,<source2>

ThEesEiA :

FAF & <sourcel> 5 <source2>FE— NN EinZBHATE. EHA <source>BUE
CHANnel1, CHANnel2, CHANnel3 . CHANnel4 g MATH,

IREEE:

&#ifR[E] 5.000e-003, By s,

:MEASure:LRR?

>

wSEN:

:MEASure:LRR? <source1>,<source2>

TnaeHEA:

FAF & <sourcel>FE— EFHE S <source2> &g —1 LA B Z ERYATE., He
<source>HYE S CHANnel1, CHANnel2, CHANnel3 . CHANnel4 5 MATH,
IBEE:

&ifiR[E 5.000e-003, Hfiys,
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:MEASure:LRF?

> SN
:MEASure:LRF? <source1>,<source2>
> IgeiER:
FAF & <sourcel>FE— EFHE S <source2> RfF—1N N EIEZERATE., He
<source>HYE S CHANnel1, CHANnel2, CHANnel3 . CHANnel4 5 MATH,
> IRERER:
&EifiR[E 5.000e-003, Hifiys,

:MEASure:LFR?

> woigH:
:MEASure:LFR? <source1>,<source2>
> IgeEiR:
FAF & <sourcel>FE— PTG S <source2> &g —1 LA B Z ERETE., He
<source>HYE S CHANnel1, CHANnel2, CHANnel3 . CHANnel4 5 MATH,
> IEEHgR:
E=ifiRME] 5.000e-003, Efis,

:MEASure:LFF?

> SR
:MEASure:LFF? <source1>,<source2>
> ThEEHEiR:
FF & <sourcel>FE—P TS <source2> {Ffg— N NG Z AN E, Hd
<source>HYE S CHANnel1, CHANnel2, CHANnel3 . CHANnel4 5% MATH,
> IEEHE:
&HifiRE 5.000e-003, Bfys
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TRIGger &

FIT R LSRR SIE, MARE T RRE AR FHAR SRS TR,
bz 12l

:TRIGger:-MODE

> anfERt:
:TRIGger:MODE <mode>
:TRIGger:-MODE?
> INeEHEIA:
BT REMALI, RIEFARVEMARABENIRE.
<mode>% 5179 EDGE (i0i5f#A&) . PULSe (BXEEf4A) . VIDeo (#ifiEA) . SLOPe
(F=MR) . RUNT (RiEfR) . WINDow (iBiEf#%) . DELay (REEf#RA) . TIMeout
(#8R3fmA) . DURation (¥F4ERdE)fA) . SHOLA (EIM{RIFfRA) . NE (BNiZ
BfA) . PATTern (FBEMHA) .

> IEEHE:
EERERE .

> Hf:
:TRIGger:MODE NE RESE N LBk
‘TRIGger:MODE? HifikE] NE

:TRIGger:FORCe

> weE:
:TRIGger:FORCe
> ThEEEIA:
RATFREERKEHREIGENMARME, fiTizme, BEEFE—MIRESERNIK
LR AT,
> Bl
:TRIG:FORC EE )

:TRIGger:SWEep
>  atEa:
:-TRIGger:SWEep {AUTO|NORMal|SINGle}

:TRIGger:SWEep?
> INEEfEIR:
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FRT i A IR

AUTO (Baf) : EREMAFRHRERT, RESFEMAES, BHMA.
NORMal (FE) : REREMAFRMAIA8EMA.

SINGle (BR) : ENEMARMER T XK, AEEL.

> IEEHE:
EIREEFEE{AUTO|NORMal|SINGIe},

> )
:TRIGger:SWEep AUTO REBE—HEMMAER
:TRIGger:SWEep? &ifIRE] AUTO

:TRIGger:LEVel:ASETup

>  mtE:
:TRIGger:LEVel:ASETup
> TDHEHEAR:
RATEitRBERETESEENEERRL.
> &4
-TRIG:LEVel:ASETup Bt ABEAEETHOL

:TRIGger:STATus?

> @SB
:TRIGger:STATus?

> INEEfEIR:
EISRIRI KRR MRIZ TR,

> IREHE:

=ifiRE STOP/ARMED/READY/TRIGED/AUTO/SCAN/RESET/REPLAY/WAIT,
> &l

‘TRIGger:STATus? &HifiR[E AUTO

:TRIGger:LEVel

> antEa:

:TRIGger:LEVel  <level>

:TRIGger:LEVel?
> IDHEHER:

BTFREEFMARMABETE, <level>HELIREERESE. FRERRERFIRE.
> IREfE:

iR <level>RIREE, B V.
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> %l

‘TRIG:LEV 2 REMANMABRFEA 2V
‘TRIG:LEV? #HifiR[E] 2.000e000

:TRIGger:LEVel:LOW

> @S
:TRIGger:LEVel:LOW <level>
:TRIGger:LEVel:LOW?
> IDHEHER:
BT REMEMARIREE. <level>HELRIEEEE. FRERMRERIRE.

> IRE#ER:
HifRE <level> FNIRE[E, B V.

> %l
TRIG:LEV:LOW 2 REMANAABETS 2V
:TRIG:LEV:LOW? &HifiR[E] 2.000e000

:TRIGger:LEVel:HIGH

> aSE:
:TRIGger:LEVel:HIGH <level>
:TRIGger:LEVel:HIGH?
> IDHEHER:
BT REMEMANSEE. <level>HELRIEEEE. FRERMRERIRE.

> IRE#ER:
HifRE] <level> RNIREE, B V.

> %l
‘TRIG:LEV:HIGH 2 REMANAABTS 2V
:TRIG:LEV:HIGH? &HifiR[E] 2.000e000

:TRIGger:SOURce

> woiEH:
:TRIGger:SOURce <source>
:TRIGger:SOURce?

> TheekdiR:
BAFRERMIAEER, WAEE (CHANnel1, CHANnel2, CHANnel3, CHANnel4),
HhERfA (EXT) , AC Line (f3EB) . R EDGE/ PULSe 3z%F AC Line, EXT {5i&,
<source>FRAER, BUENT:

50/133



CHANnel<n>|EXT |[ACLINE, Erh<n>E 1. 2. 3. 4,

> IREHE:
HiFREMAEE{CHANNel1|CHANNel2| CHANNel3|CHANNel4|EXT|ACLINE},
> &
‘TRIGger:SOUR CHANT1 REBE—IMARIR
:TRIGger:SOUR? &ifmiR([E CHANnel1

:TRIGger:COUPling

> adfER:
:TRIGger:COUPIling {DC|AC|LF|HF|NOISE}
:TRIGger:COUPIing?
> TaefEid:
FATFREMEETIN, DC (BiR) . AC (i) . LF (RSPH) . HF (E8mind) . NOISE
(D)) . 2B ViDeo 7328,

> IEEHE:
BEHIRERES 5 {DC|AC|LF|HF|NOISE},

> Hf:
‘TRIGger:COUPling AC RELGME AR
‘TRIGger:COUPIing? H=iiRE AC

:TRIGger:EDGE:SLOPe

> atEa:
:TRIGger:EDGE:SLOPe {POSitive|NEGative|ALTernation}
:TRIGger:EDGE:SLOPe?
> ThHEHEAR:
RTREMARILIEZREY, POSitive (EFHE) . NEGative (TFB&iE) . ALTernation (k£
FREG

> RO
EREfRARIIDGSEEY POSitive | NEGative | ALTernation },
> &l
:TRIGger:EDGE:SLOP POS REWGMA N EFHG
‘TRIGger:EDGE:SLOP? &EifiR[E POSitive
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FKEShhA
:TRIGger:PULSe:QUALifier

> atEa:
:TRIGger:PULSe:QUALifier {GREaterthan | LESSthan | INRange}
:TRIGger:PULSe:QUALifier?

> IhaesEik:
AT iREKTRIEIRESRM, GREaterthan (KF) . LESSthan (/F) . INRange (Z
&) .

> RO
EifiR[E[{GREaterthan | LESSthan | INRange},

> &l
‘TRIGger:PULSe:QUALifier GRE REPFREAKRT
‘TRIGger:PULSe:QUALiIfier? &ifiR[E] GREaterthan

:TRIGger:PULSe:POLarity

> antEa:
:TRIGger:PULSe:POLarity {POSitive | NEGative}
:TRIGger:PULSe:POLarity?

> IDHEHER:
ATigERK Rkt POSitive (IEBKE) . NEGative (FABKEE) .

> IREfE:
HifiR[E]{ POSitive | NEGative },

> &l
:TRIGger:PULSe:POL POS IREPKPR M LERKE
‘TRIGger:PULSe:POL? &EifiR[E POSitive

:TRIGger:PULSe:TIME:UPPer

> moE:
:TRIGger:PULSe:TIME:UPPer  <time>
:TRIGger:PULSe:TIME:UPPer?

> INEEfEIR:
AT IREKEMARIE LR,

> REER:
EEREIZEREAIEER, s,
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> Bl
:TRIGger:PULSe:TIME:UPPer 1 IRERKPRRAR ERRA 1s
‘TRIGger:PULSe:TIME:UPPer? &iiR[E] 1.000e000

:TRIGger:PULSe:TIME:LOWer

> moE:
:TRIGger:PULSe:TIME:LOWer <time>
:TRIGger:PULSe:TIME:LOWer?

> INEEfEIR:
AT iREPKEAAATE TR,

> iREER:
EEREIZERASEERE, s,

> &
:TRIGger:PULSe:TIME:LOWer 1 IRERKPRRA TR 1s
‘TRIGger:PULSe:TIME:LOWer? &iiR[E 1.000e000

> weE:
:TRIGger:VIDeo:MODE { ODD | EVEN | LINE| ALINes}
:TRIGger:VIDeo:MODE?

> IgeEiR:
BT REMMARLSN, ODD (&%) . EVEN ({8%) . LINE (38%F17) . ALINes
(FFB1T) .

> iIREHE:
ZARE{ ODD | EVEN | LINE| ALIN},

> Bl
:TRIGger:VIDeo:MODE ODD REMEAR RS ER A ETET
‘TRIGger:VIDeo:MODE? &ifiR[E ODD

:TRIGger:VIDeo:STANdard

> atEa:
:TRIGger:VIDeo:STANdard { NTSC | PAL | SECAM }
:TRIGger:VIDeo:STANdard?
> IDHEHEAR:
AT RENSTNE,
> iEEE:
HiFIR[E{ NTSC | PAL | SECAM },
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>

:TRIGger:VIDeo:STANdard NTSC REMSTRESA NTSC
‘TRIGger:VIDeo:STANdard? &=iFiR[E NTSC

:TRIGger:VIDEO:LINE

> aSE:
:TRIGger:VIDEO:LINE <value>
:TRIGger:VIDEO:LINE?
> INeEHEA:
AT RETSAREIISEITE. <value> FRIBENITE, SEREMUSMTERX.

> IREEI:
HiFREHFIFTEERITEL

> )
:TRIG:VIDEO:LINE 50 REVSAREZTIEERTECN 50
:TRIG:VIDEO:LINE? HifiRE

:TRIGger:SLOPe:QUALifier

> antEa:
:TRIGger:SLOPe:QUALifier {GREaterthan | LESSthan | INRange}
:TRIGger:SLOPe:QUALifier?

> IDHEHER:
FRATFRERZEEIRESRM, GREaterthan (XF) . LESSthan (/vF) . INRange (Z
&) .

> IREHE:
&HifiR[E{GREaterthan | LESSthan | INRange}.,

> &
‘TRIGger:SLOPe:QUALifier GRE IRERRFHART
‘TRIGger:SLOPe:QUALifier? &EifiR[E] GREaterthan

:TRIGger:SLOPe:SLOPe

> aSER:
:TRIGger:SLOPe:SLOPe {POSitive|NEGative}
:TRIGger:SLOPe:SLOPe?
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> INgEHEIAR:
AT REfARIZRER POSitive (EF) . NEGative (F[%)

> IREfE:
HiFiR[E[{POSitive|NEGative},

> &l
:TRIGger:SLOPe:SLOPe POS R EFHER
‘TRIGger:SLOPe:SLOPe? &ifmiR[E POSitive

:TRIGger:SLOPe:TIME:UPPer

> @tEs:
:TRIGger:SLOPe:TIME:UPPer <time>
:TRIGger:SLOPe:TIME:UPPer?

> IDHEHER:
AT REMZMARE LR,

> IREfE:
EHREIZRIREER, &8s,

> &l
:TRIGger:SLOPe:TIME:UPPer 1 IRERZMA FRRA 1s
‘TRIGger:SLOPe:TIME:UPPer? &iiR[E 1.000e000

:TRIGger:SLOPe:TIME:LOWer

> o
:TRIGger:SLOPe:TIME:LOWer <time>
:TRIGger:SLOPe:TIME:LOWer?

> INBEfEIR:

BT IREMNEMARIE TR,

> iREHER:
EEIREIXFRTEENE, 8BS,

> Bl
:TRIGger:SLOPe:TIME:LOWer 1 REMEMATIRA 1s
:TRIGger:SLOPe:TIME:LOWer? EifiR[E] 1.000e000

:TRIGger:SLOPe:THReshold

> SR
:TRIGger:SLOPe:THReshold ~ {LOW|HIGH|LH}
:TRIGger:SLOPe:THReshold?
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> IDEEHEA:
BT ERE=mMAEAEERL.

> IEEHE:
EIRE{LOW|HIGH|LH},

> Hf:
:TRIGger:SLOPe:THR HIGH FERRENSER
‘TRIGger:SLOPe:THR? &ifix[E HIGH

:TRIGger:SLOPe:RATe:LOWer?

> aoE:
:TRIGger:SLOPe:RATe:LOWer?

> INEEfEIR:
ESRIRERRARIERTIRE, B V/s.

> IREHE:
HRREMARERTIRE, RARFETEE.
> &l
‘TRIGger:SLOPe:RATe:LOWer? &ifik[E 3.210E+000

:TRIGger:SLOPe:RATe:UPPer?

> @wStE:
:TRIGger:SLOPe:RATe:UPPer?
> INEEfEIR:
ERSAIRERRARE LIRE, B V/s,

> IREHE:
ERRERARER ERE, RARFITEGE.
> &l
‘TRIGger:SLOPe:RATe:UPPer? &Eifik[E 3.210E+000

:TRIGger:RUNT:QUALIifier

> antEa:
:TRIGger:-RUNT:QUALifier {GREaterthan | LESSthan | INRange | NONE}
:TRIGger:RUNT:QUALiIfier?

> IDHEHER:
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AT IREZREFIIENRESM, GREaterthan (XTF) . LESSthan (/\F) . INRange (Z
1) . NONE ({FE) .

> IREfE:
&HifiR[E{GREaterthan | LESSthan | EQUal | NONE},

> g4
‘TRIGger:RUNT:QUALifier GRE REREFMH AT
‘TRIGger:RUNT:QUALifier? &ifiR[E] GREaterthan

:TRIGger:RUNT:POLarity

> @tEs:
:TRIGger:RUNT:POLarity {POSitive | NEGative}
:TRIGger:RUNT:POLarity?

> IDHEHEAR:
RTIRERBFRIE, POSitive (IEBKEE) . NEGative (fABKES) .

> IREHE:
EEE(POSitive | NEGative).

> &
:TRIGger:RUNT:POL POS IRE KPR IERKES
‘TRIGger:RUNT:POL? &ifiRE] POSitive

:TRIGger:RUNT:LEVel

> SR
:TRIGger:RUNT:LEVel {LOW | HIGH | LH}
:TRIGger:RUNT:LEVel?

> IDHEHER:
AT IREZETRRAR TR,

> iIREHE:
EEEE{LOW | HIGH | LH}.

> &
:TRIGger:RUNT:LEV HIGH REZHEEAEMARET
‘TRIGger:RUNT:LEV? EfIRE] HIGH

:TRIGger:RUNT:TIME:UPPer

> S
:TRIGger:RUNT:TIME:UPPer  <time>
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:TRIGger:RUNT:TIME:UPPer?
> INgEHEIAR:
TR EEE Tt ARS8 LR,

> IREER:
FEREMAIATE LR, B{Us.

> Bl
:TRIGger:RUNT:TIME:UPPer 1 IRERRAE AR R 1s
‘TRIGger:RUNT:TIME:UPPer? &iiR[E 1.000e000

:TRIGger:RUNT:TIME:LOWer

> adfER:
:TRIGger:RUNT:TIME:LOWer  <time>
:TRIGger:RUNT:TIME:LOWer?

> TaefEid:
AT REZBE AR A TR,

> IEEHE:
EHRREIZHFIRE TR, Bfs.

> Bl
:TRIGger:RUNT:TIME:LOWer 1 IS EEBRFMA TRA 1s
:TRIGger:RUNT:TIME:LOWer? &Fi8ix[E] 1.000e000

:TRIGger:WINDow:SLOPe

>  atEa:
:TRIGger:WINDow:SLOPe {POSitive|NEGative|ALTernation}
:TRIGger:WINDow:SLOPe?

> IDHEEAR:
BFigEMARANA2EE, POSitive (EFHA) . NEGative (FF&iG) . ALTernation (£

FREER) .

> IREfE:
EREfRARIIIGSEEPOSitive|NEGative|ALTernation},

> &l
:TRIGger:WINDow:SLOP POS REBOMAN ETHG
‘TRIGger:WINDow:SLOP? #Hifik[[E POS
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:TRIGger:WINDow:LEVel

> antEa:
:-TRIGger:WINDow:LEVel {LOW | HIGH | LH}
:TRIGger:WINDow:LEVel?

> IhHEHEAR:
RATFiREEOMAEFE.

> EEE:
EERE{LOW | HIGH | LH},

>
:TRIGger:WINDow:LEV HIGH REBOMANSMABRT
‘TRIGger:WINDow:LEV? &HifiRE HIGH

:TRIGger:WINDow:TIME

> moE:
:TRIGger:WINDow:TIME  <time>
:TRIGger:WINDow:TIME?

> INBEfEIR:
BT REENMARIEERR.

> REHg:
HRIREISFIAEER, $8{7s.

> &)
:TRIGger:WINDow:TIME 1 REBOMAEIVESEER 1s
‘TRIGger:WINDow:TIME? &ifmiR[E] 1.000e000

:TRIGger:WINDow:POSition

> woigH:
:TRIGger:WINDow:POSition ~ {ENTER|EXIT|TIME}
:TRIGger:WINDow:POSition?
> ThEEHEiR:
AFgEEMOMENE.
> IEEgR:
HIFIRE{ENTER|EXIT|TIME},
> &4
:TRIGger:WINDow:POS TIME wREEOMAMNE TIME
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:TRIGger:WINDow:POS? #ifig[E TIME

:TRIGger:DELay:ARM:SOURce

> aSER:
:TRIGger:DELay:ARM:SOURce {CHANnel1| CHANnel2| CHANnel3| CHANnel4}
:TRIGger:DELay:ARM:SOURCce?

> INeEHEA:
AT REEEMARIERIR.

> iREER:
&HifRE{CHANnNel1| CHANnel2| CHANnel3| CHANnel4},

> Efl:
‘TRIGger:DELay:ARM:SOUR CHANT1 REBE—ERIR
‘TRIGger:DELay:ARM:SOUR? &EifiR[E] CHANnel1

:TRIGger:DELay:ARM:SLOPe

> SR
:TRIGger:DELay:ARM:SLOPe {NEGative | POSitive}
:TRIGger:DELay: ARM:SLOPe?
> IDHEHER:
BT &EMARLGRE, POSitive (EFHG) . NEGative (TF&EH) .

Y

> IREfE:
HifiR[E{NEGative | POSitive},

> &
:TRIGger:DELay:ARM:SLOPe NEG REMARIGOGRE A TEG
‘TRIGger:DELay:ARM:SLOPe? &ifik[E] NEGative

:TRIGger:DELay:TRIGger:SOURce

> @tE:
:TRIGger:DELay:TRIGger:SOURce {CHANnel1| CHANnel2| CHANnel3| CHANnel4}
:TRIGger:DELay:TRIGger:SOURce?

> IDHEHER:
BT REERMARIBAIR,

> iREfE:
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HiFIR[E{CHANnNel1| CHANnel2| CHANnel3| CHANnNel4},

> &
:TRIGger:DELay:TRIGger:SOUR CHAN1 REBE—fRIR
‘TRIGger:DELay:TRIGger:SOUR? &EifiR[E] CHANnel1

:TRIGger:DELay:TRIGger:SLOPe

>  atEa:
:TRIGger:DELay:TRIGger:SLOPe {NEGative | POSitive}
:TRIGger:DELay:TRIGger:SLOPe?

> IDHEHER:
FAFi&Ehtkra828, POSitive (EFHE) . NEGative (TS

> IREfE:
EifiR[E{NEGative | POSitive},

> &
‘TRIGger:DELay:TRIGger:SLOPe NEG REMARILIGRE N TEG
‘TRIGger:DELay:TRIGger:SLOPe? &EifiRE] NEGative

:TRIGger:DELay:QUALifier

> aSER:
:TRIGger:DELay:QUALifier { GREaterthan | LESSthan | INRange | OUTRange }
:TRIGger:DELay:QUALIfier?

> INeEHEA:
AT REEEMARBIREMRSM, GREaterthan (KF) . LESSthan (/VF) . INRange
(GEEM) . OUTRange (BES) .

> REHE:
&HiFIR[E{ GREaterthan | LESSthan | INRange | OUTRange }.

> &
:TRIGger:DELay:QUALifier GRE IREFRFH AT
‘TRIGger:DELay:QUALIfier? EifiR[E] GREaterthan

:TRIGger:DELay:TIME:UPPer

> adfER:
:TRIGger:DELay:TIME:UPPer <time>
:TRIGger:DELay:TIME:UPPer?

> INeEHEA:
BT REERMARE_ LR,
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> IREER:
EimiREIXFIRTE LR, BB{Is.,

> &l
:TRIGger:DELay:TIME:UPPer 1 IREEIRfRA FRRA 1s
‘TRIGger:DELay:TIME:UPPer? &iiR[E] 1.000e000

:TRIGger:DELay:TIME:LOWer

> afERt:
:TRIGger:DELay:TIME:LOWer <time>
:TRIGger:DELay:TIME:LOWer?

> DaefEid:
BT IREERMARIE TR,

> iEEEN:
EIRESFEE TR, $8fs.

> &
:TRIGger:DELay:TIME:LOWer 1 IREEIRMRA TR 1s
‘TRIGger:DELay:TIME:LOWer? &ifik[E 1.000e000

:TRIGger:DELay:SELect

> moE:
:TRIGger:DELay:SELect <SOURce<n>>
:TRIGger:DELay:SELect

> INEEfEIR:
FIFi#a%haiE, SOURce<n>{RFIE, nEUE 1. 2,
SOURcel FRERIR; SOURce2 R lRIR,

> IREfE:
HifiR([E{ SOURce1 | SOURce2 },

> &l
:TRIGger:DELay:SELect SOURce1 REFEPERR
‘TRIGger:DELay:SELect? &ifmiR[E SOURcel

:TRIGger:TIMEOUT:TIME

> afERt:
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:TRIGger:TIMEOUT:TIME <time>
:TRIGger:TIMEOUT:TIME?
> IDHEHER:
BT REENAREERRE.
> iBEER:
EEREIZERERSEER, s,
> Efl:
:TRIGger:TIMEOUT:TIME 1 IRE B ARTRTEERE 1s
‘TRIGger:TIMEOUT:TIME? &Eifik[E 1.000e000

:TRIGger:-TIMEOUT:SLOPe

> atEa:
:TRIGger:TIMEOUT:SLOPe {POSitive|NEGative|ALTernation}
:TRIGger:TIMEOUT:SLOPe?
> IDHEHER:
BFREMARINIGEE, POSitive (EFHE) . NEGative (RF%iG) . ALTernation (E
FATEER) .
> iREHER:
EHiTREfARIDEZER{POSitive|NEGative|ALTernation},
> &
:TRIGger:TIMEOUT:SLOP POS RENGHRAN ETHE
‘TRIGger:TIMEOUT:SLOP? &ifik[E POSitive

iEpedinl )13

:TRIGger:DURation:PATTern

> atEa:

:TRIGger:-DURation:PATTern  { HIGH | LOW | X }

:TRIGger:DURation:PATTern?
> IDHEHEAR:

RTIREREHIAREE, HIGH (FBEYMEX 1) . LOW (BBEYENO0) . X (BEXR) .
> iEEE:

HiFRE{ HIGH | LOW | X }.

> &
‘TRIGger:DURation:PATTern HIGH REREHRIEE 1
:TRIGger:DURation:PATTern? =HifRE| HIGH
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:TRIGger:DURation:QUALifier

> antEa:
:-TRIGger:DURation:QUALifier { GREaterthan | LESSthan | INRange }
:TRIGger:DURation:QUALifier?

> IhHEHEAR:
BT REERMAREERSAM, GREaterthan (KTF) . LESSthan (/F) . INRange
CeER) .

> iREHER:
&EifIR[E{ GREaterthan | LESSthan | INRange }.

> &
‘TRIGger:DURation:QUALifier GRE REMERFMHALT
:TRIGger:DURation:QUALifier? &EifiR([A] GREaterthan

:TRIGger:DURation:TIME:LOWer

> SR
:TRIGger:DURation:TIME:LOWer <time>
:TRIGger:DURation:TIME:LOWer?
> IDHEHER:
AT REFEAEMANRE TR, REEREG (KF) B, BTRERE TR,
> iEEER:
ERREIZRIASE TR, BBMis.

> Efl:
:TRIGger:DURation:TIME:LOWer 1 IRE R AR R A TBR 1s
:TRIGger:DURation:TIME:LOWer? &H1fiR[E] 1.000e000

:TRIGger:DURation:TIME:UPPer

> SR

:TRIGger:DURation:TIME:UPPer <time>

:TRIGger:DURation:TIME:UPPer?
> TNREHER:

AT RERSEaftREE IR, BEEREE () iF, BFRENECLR,
> iBEER:

EERESAIATE LR, BB{Us.

> Bl
:TRIGger:DURation:TIME:UPPer 1 IREFFEAT BRI LR 1s
:TRIGger:DURation:TIME:UPPer? &HifiR([E] 1.000e000
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:TRIGger:SHOLd:DATA:SOURce

> moE:
:TRIGger:SHOLd:DATA:SOURce {CHANnel1| CHANnel2| CHANnel3| CHANnel4}
:TRIGger:SHOLd:DATA:SOURce?

> INEEfEIR:
BT REEVRIFMAEIER.

> iREER:
&#ifiRE{ CHANnel1| CHANnel2| CHANnel3| CHANnel4 },

> Efl:
‘TRIGger:SHOLd:DATA:SOUR CHANT1 REBE—/IEIER
‘TRIGger:SHOLd:DATA:SOUR? &igikE] CHANnel1

:TRIGger:SHOLd:CLOCK:SOURce

> moE:
:-TRIGger:SHOLd:CLOCK:SOURce { CHANnel1| CHANnel2| CHANnel3| CHANnel4 }
:TRIGger:SHOLd:CLOCK:SOURce?

> INEEfEIR:
BT IREERIFART TR,

> iEEE:
&HifiRE{ CHANnel1| CHANnel2| CHANnel3| CHANnel4 },

> Efl:
‘TRIGger:SHOLd:CLOCK:SOUR CHAN'1 REBE—/IIRR
‘TRIGger:SHOLd:CLOCK:SOUR? &ifiRE CHANnel1

TRIGger:SHOLd:SLOPe

> moE:
:TRIGger:SHOLd:SLOPe {POSitive|NEGative}
:TRIGger:SHOLd:SLOPe?
> INEEfEIR:
BF&EESMAINIAZEE, POSitive (EFHA) . NEGative (TR
> iREER:
HiFIR[E{POSitive|NEGative},
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> &l
:TRIGger:SHOLd:SLOPe POS B RIFRR N ETHG
‘TRIGger:SHOLd:SLOPe? &ifmiR[E POSitive

:TRIGger:SHOLd:PATTern

> mtE:
:TRIGger:SHOLd:PATTern { HIGH | LOW }
:TRIGger:SHOLd:PATTern?
> IDHEHER:
RTFRERRFARE, HIGH (FBEYEHN 1) . LOW (BBEYEHO) .

> IREfE:
EIREN HIGH | LOW ).

> g4
:TRIGger:SHOLd:PATTern HIGH REERIFHMAIEE 1
‘TRIGger:SHOLd:PATTern? &HifiR[E HIGH

:TRIGger:SHOLd:MODE

> o
:TRIGger:SHOLd:MODE { SETup | HOLD }
:TRIGger:SHOLd:MODE?

> IDHEHER:
ATFREMAREME, SETup (GEIzATE) . HOLD (fRiZhdA)

> IREER:
EIRE{ SETup | HOLD }, :

> Bl
:TRIGger:SHOLd:MODE HOLD IRE AR ARSI ERI
‘TRIGger:SHOLd:MODE? &EifIRE] HOLD

:TRIGger:SHOLd:TIME

> o
:TRIGger:SHOLd:TIME <time>
:TRIGger:SHOLd:TIME?
> INeEfEIR:
BT IREEIRFFMARTEIERR.
> iREER:
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EiMRE=SFIEI AR, #4Is.

> E4f:
:TRIGger:SHOLJ:TIME 1 RERVREA R RSB ERE 1s
:TRIGger:SHOLd:TIME? iR 1.000e000

:TRIGger:SHOLd:SELect

> moE:
:TRIGger:SHOLd:SELect <SOURce<n>>
:TRIGger:SHOLd:SELect

> INEEfEIR:
FF % aiE, SOURce<n>fXFEIE, nEYE 1. 2,
SOURce1 R-EGEIR; SOURce2 FRfd iR,

> RO
HifiR([E{ SOURce1 | SOURce2 },

> &
:TRIGger:SHOLd:SELect SOURceT REGFERR
‘TRIGger:SHOLd:SELect? &ifik[E] SOURcel

N i85t

:TRIGger:NEDGE:SLOPe

> wSE:
:TRIGger:NEDGE:SLOPe {POSitive|NEGative }
:TRIGger:NEDGE:SLOPe?

> THREREIA:
BT IREMAINLAREE, POSitive (EFHE) . NEGative (TBEH

> IREHE:
EHiRIRERARAIDGREYPOSitive|NEGative },

> &l
:TRIGger:NEDGE:SLOP POS REWGA N ETHG
‘TRIGger:NEDGE:SLOP? &ifik[E POSitive

:TRIGger:NEDGE:TIME

> mtEs:
:TRIGger:NEDGE:TIME <time>
:TRIGger:NEDGE:TIME?

67/133



> INgEHEIAR:
BFZE N LGkt st EERE.,

> IREHE:
HREIZRIREEMR, §{Is.

> &l
:TRIGger:NEDGE:TIME 1 IRE N LinftREz(RE)ER 1s
‘TRIGger:NEDGE:TIME? &Eifik[E 1.000e000

:TRIGger:NEDGE:VALue

> moE:
:TRIGger:NEDGE:VALue <value>
:TRIGger:NEDGE:VALue?
> INEEfEIR:
BFEE NiLB{E, <value>EEYEH, JEE 0~65535,
> IREfER:
EWIREIZE] N BWiG(E.
> &
:TRIGger:NEDGE:VALue 100 ®E NiLiG{E 100

:TRIGger:NEDGE:VALue? #ifiR([E] 100

:TRIGger:PATTern:PATTern

> @tE:
‘TRIGger:PATTern:PATTern  { HIGH | LOW | X | POSitive | NEGative }
:TRIGger:PATTern:PATTern?

> IDHEHEAR:
RATIREREAAINE, HIGH (fBEE)9 1) . LOW (BEYENO0) . X (BEFRX) .
POSitive (EF) . NEGative () .

> IREHE:
BARRE HIGH | LOW | X | POSitive | NEGative },

> E4f:
‘TRIGger:PATTern:PATTern HIGH IREMDERRIEE 1
‘TRIGger:PATTern:PATTern? EfIRE] HIGH
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CURSor %

BT REESH, NEBRAEEITIE.

:CURSor:-MODE

> weE:
:CURSor:MODE { TRACK | INDependent }
:CURSor:MODE?
> IgeHER:
RFREFERREFER .
TRACK (ERER) . INDependent (J#37) .
> IRERER:
&HifiR[E{ TRACK | INDependent },
> Bl
:CURSor:MODE TRACK IREYERAIRIFET
:CURSor:MODE? &HifiR[E] TRACK

:CURSor:TYPE

> SN
:CURSor:TYPE ~ {AMPIitude | TIME | SCReen | CLOSe }
:CURSor:TYPE?
> IgeHEIA:
FRATFRESFRIVAIEIRRE,
AMPlitude (18EE) . TIME (Bd/8)) . CLOSe (%ki4) .
> iREHE:
&EifiRE{AMPlitude | TIME | SCReen | CLOSe },
> Ef:
:CURSor:TYPE AMP REYRRELAEE
:CURSor:TYPE? &ifiRE] AMPlitude

:CURSor:SOURce

> antEa:
:CURSor:SOURce <source>
:CURSor:SOURce?

> INRESER:
BT REFERFIHMEAGRR.
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<source>BYE{CHANNel<n> [MATH | REFA | REFB | REFC | REFD }, nEUf& 1. 2. 3.

4,

IREEE:

EYEE{CHANNel <n>|MATH| REFA | REFB | REFC | REFD }.
25451

:CURSor:SOURce CHAN' REBE— YRR
:CURSor:SOURce? #HifiR[E] CHANnel1

:CURSor:CURAX

mSigt:

:CURSor:CURAX <value>

:CURSor:CURAX?

TheefEiz :

RFREirg A BIERAE,

BE YT #&zCEEINERIA[0,699],

IBEEI:

EHiFREIRE A ERME.,

24450

:CURSor:CURAX 50 REFtingk A mmEfiErR 50
:CURSor:CURAX? EHifiR[E 50

:CURSor:CURAY

i SHE:

:CURSor:CURAY <value>

:CURSor:CURAY?

TheefEiz :

FAFigEtin A NRNE, SEEMN TR L[28,227],

IBEIE:

EHiFREIRE A NBfIE.

25650

:CURSor:CURAY 50 REFNeingk A YPAfIESR 50
:CURSor:CURAY? EHifiR[E 50

:CURSor:CURBX

>

g
:CURSor:CURBX <value>
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>

>

:CURSor:CURBX?

TheehEA

RFREYir B fUERNE.

RE YT #BSEEI M AZEIA[0,699].

IREER:

EEIRE R B fEAE,

50 -

:CURSor:CURBX 50 REFaEIRE B A& 50
:CURSor:CURBX? EifRME] 50

:CURSor:CURBY

wmSigt:

:CURSor:CURBY <value>

:CURSor:CURBY?

Theefiz :

FFIREYtintk B NRRE, SEEMNTEIL[28,227],

IREEE:

HRIRED IR B URINIE,

25451

:CURSor:CURBY 50 REF iR B RMIES 50
:CURSor:CURBY? HifiR[E 50

:CURSor:AXValue?

i SHE:

:CURSor:AXValue?

TheefEiz :

FFEEGRA R X B, BRIRNNEEIEEIIEERAIRE,
IBEIE:

HiFREILRFTH S RBEI SRR A L8 X &,

25650

:CURSor:AXV? &ifiR[E] 2.000000E+02

:CURSor:AYValue?

>

>

wSEN:
:CURSor:AYValue?

ThaesEiA :
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BTERYRA LY B, SURLRYNEEEFENIERRIRE.

> IEEHgR:
HFRERFETH A ZOREISERR A Y E.
> Bl
:CURSoOr:AYV? &EifR[E] 2.000000E+02

:CURSor:BXValue?

> weE:
:CURSor:BXValue?
> IThREREIA:
FRTFEEYR B N X B, BUAISRNAIBEISERIRERALIRE,

> IEEgR:
BEERERIFETH A ZORBI SRR B 4RI X B,
> &l
:CURSor:BXV? &EifR[E] 2.000000E+02

:CURSor:BYValue?

> SN
:CURSor:BYValue?
> IgeHER:
FRTF&ERYER B R Y EH, BUHISRNIEEEERIIEERIRE,
> IRERER:
FHEREILARZFHEFUREIZAEDEE B /0 Y &,
>
:CURSor:BYV? &if)k[a] 2.000000E+02

:CURSor:XDELta?

> woE:
:CURSor:XDELta?
> IgeHER:
HREIREIRUER, YR A LFERE B 4RI X BEZENEEX.

> IEEHE:
HiFREILRETH R B EIER A 71 B Z[ERY X E(E.
> )
:CURSor:XDEL? &E=ifiRME] 2.000000E+02
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:CURSor:YDELta?

> wSE:
:CURSor:YDELta?
> IgeHER:
HEIREIRUER, YR A QR B LRI Y BZENEEY. RUSISRBEERE

Rt
> IEEHgR:
EHiFREILREFTHEFEREIHEGR AR B ZERN Y ZE.
> Bl
:CURSor:YDEL? &ifiR[E] 2.000000E+02

:CURSor:XUNITs

> S
:CURSor:XUNITs {SECond | HZ}
:CURSor:XUNITs?
> IhEEREIR:
BFREKFEAEEA, SECond Rx-kt), Hz RRiidk.

> IREER:
HifiR(E{ SECond | HZ },

>
:CURSor:XUNITs SECond RENRKFRAL IR
:CURSor:XUNITs? &ifik[E SECond
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FILE &5 &

BT 25 R AEEIIRERRIRE.

:FILE:LOAD

> SN
:FILE:LOAD <filename>[,<source>][,<disk>]
> IgeHER:
RTFINEREAEXSE BETSE R EEHIE.
<filename>F{FRXHBIFHENHIZE, XHBMURRFHREBHNE, FTHNEIS,
N test.csv”
B XHEA sy B way RNENGRIRAAURINEZISEREER, LInKsEESE
RZFRIEILES,
B A dat FRENERNRELIEINERKRSET, LUnKEEE S ERATRETE.
<source >FRRSE{HE( REFA | REFB | REFC | REFD }, ali®&#%§, MNZBEREIERAS

REFA £ REEEE A

REFB &=~&%1EiE B

REFC &% i@iE C

REFD Fx&%i@E D

<disk>FRF#ENE{ FLASH | UDISK }, wliES#i, 2hgER FLASH REREUE.
B FLASH RRAEEIRE

m  UDISK F&7R U #30E

NN g

> &
FILE:LOAD "test.wav",REFA,UISK M U £21NZ; test.wav iRKIZEUEZISEBEE A
FILE:LOAD "system-set-up01.dat" MREBNRINE 1 (U EEEHUERIRIKES
th

TR ERKERTTEBE N B RS

o TFIENIPIREHBMME"system-set-up01.set"~ "system-set-up255.set”, A 255
X,

® TFBEAIPI bsv IHSHFBZRE "wave0l.bsv"~ " wave255.bsv", Bk 255 N34,

:FILE:SAVE
> adfER:

:FILE:SAVE <filename>[,<source>][,<disk>][,<startframe>, <
endframe>,<framerate>]

> INRESEIR:
AT RFBE R EE IR EHUEEE REISRE S 4.
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<filename> [RGB MAENHIRE, XHBMYQARFARAEBE, THNEIS,

flan " test.csv”

B HEH csv B wav RRLUESEENERFEENBERRFZERZSH, LURKES
B SR FRMETE.
B R dat TRRFEMRKBEIREZMHF, LURKeEE S EREFREITE.
X 79* . mpd BRIFFENRHIIREZ3U4H, LN B S ER A RE0TE.
B * bmp F* jpeg B*.png FRFEENEREGH, LIRKRESEERE
FRAEUCEL,

<source >FRFYIEBIEE{ CHANnel1| CHANnel2| CHANnel3| CHANnel4 }, aJi&&%],

FREREEENABY.

B CHANnell ¥ REE 1

m  CHANnel2 ¥RiEiHE 2

B CHANnel3 ¥ ~iEE 3

m  CHANnel4 ¥RiEHE 4

<disk>FRRFHETE{ FLASH | UDISK }, TIi&S%), 2EgHRT FLASH AEREUE.

B FLASH FRRAEEUE

m  UDISK &= U 2#iE

<startframe > RRIFEREITATEIR N,

<endframe>FRR{FHERFIRSTRIZER A,

<framerate > {RIFERFIMSTRIMZE,

> &l
FILE:SAVE "test.csv",CHANnel1,UDISK BB 1 R EERTR U 28 test.csv X
%
FILE:SAVE "system-set-up01.dat" TR el ESIRIRTFRARENER 1 S
s
FILE:SAVE "waveO1.wav",CHANnel1,FLASH i&i& 1 B EURRERIREBN R
FILE:SAVE "waveO1.wav",CHANnel1 BiE 1 KTAERERIAERNER
FILE:SAVE "system-set-up01.dat",FLASH K ERBC B SR IRTER N BB MR
FILE:SAVE "system-set-up01.dat" T el ESIRIRTFRARENER 1 S
uE
FILE:SAVE "test.mp4",1,100,10 ANt 1, £55RMT 100, iR 10 &R
FERHISRE U 2/ test. mp4 314,
FILE:SAVE "test.png", UDISK EGEHIERRE png U RFM U 217
test.png X14.

TR ARSI EEE N B R E5RAT

o TFHENIPRE B MIE"system-set-up01.set”~ "system-set-up255.set", Fx A 255
X,

® TFERERST bsv ISR ANRE "wave0l.bsv"~ "wave255.bsv", FxA 255 N3,
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REFerence i &

BT RK=REE R INEERARIRE.

:REFerence:CLEar
> ol

:REFerence:CLEar {REFA|REFB|REFC|REFDI|ALL}
> INgEHEIAR:

RFERsEBERY, ALLXRERIMESEBERY.

> Hpl:

:REFerence:CLEar REFA FTBRESEEBE A UK
:REFerence:LOAD
> ek

:REFerence:LOAD <source>[,<ref>]

> TheekdiR:
BFEnEyEEERrasEBES, NMREESEEE, WS HLFEEENSE
BEA,
<source>: CHANnel<n>, EdbnEYE 1. 2. 3. 4,
<ref>: { REFA | REFB | REFC | REFD }, H5IF/RA. B. C. D U PM&EEE.
>

:REFerence:LOAD CHANnNel1,REFB RREBEE—NEEINEEISEEE
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RECord %S

BT REEs R REIhREERIZE.
:RECord:ENABIe

> wSE:
:RECord:ENABIe { {1|ON} | {O|OFF} }
:RECord:ENABIe?

> IgeHER:
RTFRERRHITI8E ON (#1H) 8 OFF (ki) .

> IRE#ER:
=aRE 1 8 0, 95IKF ON = OFF,
>
:RECord:ENABle ON FIFFRR R FITEE
:RECord:ENABIe? HFRE 1, XRESKITIHRZSHIIHEE

:RECord:STARt

> wSE:
:RECord:STARt { {1|ON} | {O|OFF} }
:RECord:STARt?

> IgeHER:
RTFRERFRHEI ON (F4a) 5 OFF ({F1E) .

> IRE#ER:
=aRE 1 8 0, 95IK%F ON = OFF,
> )
:RECord:STARt ON FH& R RS
:RECord:STARt? HEIRE 1, #REENEERE

:RECord:FAST

>  wSEN:
:RECord:FAST { {1|ON} | {O|OFF} }
:RECord:FAST?
> IfgeHEA:
RATFRERERSE ON (3JF) 8 OFF (XiF) .
> iREHE:
=fRE 1 8 0, £5LE ON 5 OFF,
> Ef:
:RECord:FAST ON FIFFRIESR S




:‘RECord:FAST? 'HiERE] 1, TREFIFFIRESRS

:RECord:INTerval

>

wmSigt:

:RECord:INTerval <time>

:RECord:INTerval?

TheefEiA :

RTFREIRREIAIETEERE.

IREHE:

ERREIRGIRZAE EER, RARFEITEE, Bfls.

25650

:RECord:INTerval 200ns RERHRAABMGERATE /9 200ns
‘RECord:INTerval? EifiR[E 2.000e-004

:RECord:PLAY

>

wSEN:

:RECord:PLAY { {1|ON} | {0|OFF} }

:RECord:PLAY?

ThieessiA :

FBTFRERHIFFAER ON (F48) 8 OFF (IZLE) .

IREE:

EEIRE] 1 5 0, H5LE ON = OFF,

45 -

:RECord:PLAY ON FHARHIRZER

:RECord:PLAY? EAIRE] 1, FRREENRBIEAAER

:RECord:PLAY:DELay

>

S EI:
:RECord:PLAY:DELay <time>
:RECord:PLAY:DELay?

ThaefiR

AT RE R RS ATE.,

IR[EE:

ERERFKAABHGERAIE, RARFEITEE, Bfs,

Zf50:

:RECord:PLAY:DELay 20ms RERFRAABEERASE 20ms
‘RECord:PLAY:DELay? EifRME] 2.000e-002
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:RECord:CURRent

>

I SHEI:

:RECord:CURRent <value>

:RECord:CURRent?

Thiessia :

AT REEIRHIKAERAI =SB0,

iZEHE:

ERRERGRAENAI RN, BEREEE.

25451 :

:RECord:CURRent 100 RERAAERRIZRIA 100
:RECord:CURRent? #Hifik[E 100

:RECord:FRAMes

>

i SEN:

:RECord:FRAMes <value>

:RECord:FRAMes?

ThsesEA :

TR & EIRRT R L,

IREIE:

EERELRAZREMEL, BEAUE.

4451

:RECord:FRAMes 400 IREIRZ R BImE9 400
:RECord:FRAMes? &Hifik[E] 400
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DVM &<

AT Rk ERINREAXIRE.

:DVM:ENABIe

>

>

wmSigt:

:DVM:ENABIe { {1|ON} | {OJOFF} }

:DVM:ENABIe?

Thiessi :

AT RESERFEERIIE ON (FJF7F) & OFF (XiF) .
IREEE:

=ifRE 1 8 0, £5LE ON 5 OFF,

24450

:DVM:ENABle ON FIFEFREER
:DVM:ENABIe? HifiRE] 1

:DVM:SOURCe

>

i SHE:

:DVM:SOURCe <source>

:DVM:SOURCe?

ThEesEiA :

AT RESHEIFRIERER.

<source>: CHANnel<n>, EfnEUYE 1. 2. 3. 4,
iZElE:

#HifiR[E{ CHANnel1 | CHANnel2| CHANnel3| CHANnel4 },
=3B

:DVM:SOURCe CHANnel1 REEREE—
:DVM:SOURCe? &ifik[E] CHANnel1

:DVM:MODE

>

i SHE:

:DVM:MODE {ACRMs|DC|DCRMs}
:DVM:MODE?

TnaeHEIA:

TR EsEaFHEERER.
IREEE:
EARE{ACRMSs|DC|DCRMs},
24450
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:DVM:MODE DC REHFBEEREN A DC
:DVM:MODE? iR [E DC

:DVM:CURRent?

> wSEN:
: DVM:CURRent?
> TheekdiR:
RTF&EAHFEERSRIFMUAIEEE.
> IRERER:
EHRREFFEERSRIFTURIEEE, XAREFEITHUE, 24H:DVM:MODE JRE.
> Bl
:DVM:CURRent? HEIFMUAYEEEE 3.000e-003

:DVM:LIMit:ENABIe

> mPiEN:
:DVM:LIMit:ENABIe { {1|ON} | {O|OFF} }
:DVM:LIMit:ENABIe?

> IgeiEiR:
BT FEERREZRINEE ON (FIFF) 5% OFF (Xi) .

> iREHE:
=fRE 1 8 0, £5LE ON 5 OFF,

>
:DVM:LIMit:ENABle ON FIFFBREERINEE
:DVM:LIMit:ENABIle? EifiRE] 1

:DVM:LIMit:QUALifier

> atEa:
:DVM:LIMit:QUALifier {GREaterthan | LESSthan | INRange | OUTRange}
:DVM:LIMit:QUALifier?
> TDHEHEAR:
BT REHFHEERRMEERSEM, GREaterthan (KF) . LESSthan (/VF) . INRange
(ZI&) . OUTRange GGEEISL) .

> iREfE:
&EifiR([E{ GREaterthan | LESSthan | INRange | OUTRange },

>
:-DVM:LIMit:QUALifier GRE REREZERFMHIKT
:DVM:LIMit:QUALifierr? &ifiR[E] GREaterthan
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:DVM:LIMit:UPPer

>

anStEa:
:DVM:LIMit:.UPPer <upper>
:DVM:LIMit:UPPer?

InggHEiR :
AT EEHNFEERZIR FRE.
IREHEI:

BiTREIHFIERE, RARFEHEARE, BV,
450 -

:DVM:LIMit:UPPer 2V RE ERE 2V
:DVM:LIMit:UPPer? &ifiR[E] 2.000e000

:DVM:LIMit:LOWer

>

wmoiE:
:DVM:LIMit:LOWer <lower >
:DVM:LIMit:LOWer?

InagHEiR :
BT EEHFEERZIRTIRE.
IREHEI:

EiTREIMEINRE, RARFEHERRE, BV,
50 -

:DVM:LIMit:LOWer 1V RETREA 1V
:-DVM:LIMit:LOWer? E=8R([E] 1.000e000
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BT EesEd /LM ThaEERIR E.
:PF:ENABIe

> wSEN:
:PF:ENABIe { {1|ON} | {O|OFF} }
:PF:ENABIle?
> IgeEiR:
FRFigEsEamEd/ALBliHtiee ON (31F) 3 OFF (ki) .
> iREHE:
#=HifmiRE 1 8 0, 23Xk ON % OFF,
> Ef:
:PF:ENABle ON FIFREIE /LM Th e
:PF:ENABIle? H=ifRE 1

:PF:SOURCe

> WS
:PF:SOURCe <source>
:PF:SOURCe?
> THREREIA:
FAFigEsEaEd/ARNHUER.
<source>: CHANnel<n>, EfhnBYE 1. 2. 3. 4,
> iREHE:
#HifiR[E{ CHANnel1 | CHANnel2| CHANnel3| CHANnel4 },
> E4f:
:PF:SOURCe CHANnel1 RENEREBE—
:PF:SOURCe? &HifikE CHANnel1

:PF:OPERate

> PR
:PF:OPERate {RUN|STOP}
:PF:OPERate?

> IfgeHEA:
FAFiRBin TakE LEiEid /MO,

> IEEHE:
EFRE{RUN|STOP},

> Hf:
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b SLE

:PF:OPERate RUN =178
&HifiR[E RUN

:PF:OPERate?
:PF:OUTPut

> wSE:
:PF:OUTPut {PASS|FAILED}
:PF:OUTPut?
> IgeEiR:
Tz EsEamEe/ KBS,
> IREHE:
HifiR[E[{PASS|FAILED},
> g4
:PF:OUTPut PASS IRE IS/ LM H /aiEis
:PF:OUTPut? EHR[E] PASS

:PF:STOP:TYPe

> SN
:PF:STOP:TYPe {PCOUNT|FCOUNT}
:PF.STOP:TYPe?
> IfgeHEA:
T g EsEaE /KB E2EE,
PCOUNT FRBITIXEL; FCOUNT FRREMUREL,
> IRERER:
EiFiRE{PCOUNT|FCOUNT]},
> Bl
:PF:STOP:TYPe PCOUNT IREEE/ KBRS LB iR E]
:PF:STOP:TYPe? &ifiRE] PCOUNT

:PF:STOP:QUALifier

>  wSEN:
:PF:STOP:QUALifier {LEQual | GEQual}
:PF:STOP:QUALIfier?
> IfgeHEA:
Tz EsEmaEd /KMt E L& .
GEQual Fx-ATFETF; LEQual FNFETF.
> IREE:
HiFIR[E{LEQual | GEQual}.
> &l
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:PF:STOP:QUALifier GEQual wEE/ LB E eS8 >
:PF:STOP:QUALIfier? #HiEiR[E] GEQual

:PF:STOP:THReshold

>

wmSigt:

:PF:STOP:THReshold <value>

:PF:STOP:THReshold?

TheefEiA :

RAFREsEaEE /LB E L E.,

<value>: ZIERE, ESEE 1~30000, BSeEIRIERKESIREEIER.
iZEHE:

HiOREYZFIERE, BEREEE.

24451 :

:PF:STOP:THReshold 100 REBEE/ LMK ELLRES 100
:PF:STOP:THReshold? #Hifik[E] 100

:PF:TEMPlate:SOURce

>

wmSigt:

:PF:-TEMPIate:SOURCce <source>

:PF:-TEMPIlate:SOURce?

TheefEiz :

RATFREsEAEE/AMTEIRIRERNSERBE.
<source>: CHANnel<n>, EfnEUE 1. 2. 3. 4,
IREHE:

#HifiR[E{ CHANnel1 | CHANnel2| CHANnel3| CHANnel4 },
25451 :

:PF:TEMPlate:SOURce CHANnel1 REBERIRENSEBENEE—
:PF:-TEMPlate:SOURce? &EifRE] CHANnel1

:PF:TEMPlate:X

>

I SHEI:

:PF.-TEMPIlate:X <value>

:PF.-TEMPIlate:X?

ThesEiA :

RATFREsSEEE/ KM RIRIR ERIKESR.

<value>: K¥HIR, HEE 1~100, BSEERERKERREBIENL,
IREE:

HiNREERISERKFEIR, BRHUE.
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>

251 :
:PF:-TEMPlate:X 50 REEZBIIKFESR A 50
:PF:TEMPlate:X? &#Hifk[E] 50

:PF:TEMPlate:Y

>

I SHEI:

:PF:-TEMPIlate:Y <value>

:PF:-TEMPIlate:Y?

Thiessia :

RATFREsSEES/ KM ERRIRENEE SR,

<value>: EESIR, EEH 1~100, ESCEREREENZEEIELN.
IREHE:

HRREIERISENEESIR, BIHHE.

25650

:PF:TEMPlate:Y 50 RERRIRENEESREN 50
:PF:-TEMPIlate:Y? &HifiR[E] 50

:PF:RESult?

>

I SHEI:

:PF:RESult?

Thiessia :

RAFEaES/AMNHSEITHER.

IREIFEIST: <pass>,<failed>,<total>, Eeh<pass>FR@ELREL, <failed>FREk
THYREL, <total>FRRSHIREL,

iZElE:

EEREEL /LR THESR.

4451

:PF:RESult? HifiR[A| 35,42,77
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ACQuire S

BFRERKERIRES .
:ACQuire:TYPE

> wSE:
:ACQuire:TYPE {NORMal | AVERage | PEAKdetect | HRESolution }
:ACQuire:TYPE?
> IDREHER:
TR ERKEERIRIFRE T,
NORMal (IEE) . AVERage (F13) . PEAKdetect (I&{8) . HRESolution (B9##K).

> iEEE:
&HiFIRE{NORMal | AVERage | PEAKdetect | HRESolution },
> &
:ACQ:TYPE AVER RERNA AT,
:ACQ:TYPE? &ifiR[E AVERage,

:ACQuire:AVERages:COUNt

> moE:
:ACQuire:AVERages:COUNt  <count>
:ACQuire:AVERages:COUNt?
> INEEfEIR:
BT IRERKERETIIREITAFIOREIRE. H<count>LA 2 B NRBEH, 1£2

|
8192 [EEYE, 1<N<30,
> IREHE:
EEIRE MR FIIREIREL,
> -
:ACQ:AVER:COUN 32 REFIREIRE 32,
:ACQ:AVER:COUN? HifiR[E 32,

:ACQuire:MEMory:DEPTh

> adfER:
:ACQuire:MEMory:DEPTh { AUTO | 7K | 70K | 700K | 7M | 28M | 56M }
:ACQuire:MEMory:DEPTh?

> DaefEid:
AT REXRFFERERL, REFARNEFHERERENIRE.

> iREfER:
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ZMIRE{ AUTO | 7K | 70K | 700K | 7M | 28M | 56M },

> Bl
:ACQ:MEM:DEPT AUTO REFHRESBIER.
:ACQ:MEM:DEPT? &HifiR[E] AUTO

88/133



DISPlay &%

BT RESEIRKERNERIDREEEE.
:DISPlay:DATA:FORMat

> SR
:DISPlay:DATA:FORMat { BMP | JPEG | PNG}
:DISPlay:DATA:FORMat?

> INeEHEA:
RESRIEURF AR EGAV SRS,

> IREfE:
FEREEGEIU BMP | JPEG | PNG},

> &l
:DISPlay:DATA:FORMat PNG RE PNG X NEGEUE
:DISPlay:DATA:FORMat? &HifIRE] PNG

:DISPlay:DATA?

> SN
:DISPlay:DATA?

> TheEHEiR:
FAFEarEESnFEREGEYE, BIARE BMP 8 EGEWE, IRBINEGEIEREI
F3:DISPlay:DATA:FORMat 5$R5E,

> IREEI:

EEIREIEGEIE, RENEIEFTSHIR 2: |EEE 488.2 T HIEUEIET.
> )

:DISPlay:DATA? HiRE|EGEE

:DISPlay:FORMat

> atEa:
:DISPlay:FORMat { VECTors | DOTS }
:DISPlay:FORMat?
> ThHEHEAR:
RATREXRFRIIERE, VECTors (REE7R) . DOTS (EEBTERER)

> IREEE:
HifiR([E{ VECTors | DOTS },

> Bl
:DISPlay:FORMat VECT REXHERRTERT
:DISPlay:FORMat &if)iR[E] VECTors
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:DISPlay:GRID

>

S

:DISPlay:GRID {FULL|HALF|CROSS|NONE}

:DISPlay:GRID?

ThaesEi :

RATFRERTFE LMEEMEL,

IREHE:

HiFIR[E{FULL|HALF|CROSS|NONE},

37

:DISPlay:GRID CROSS REETTFUIRE, FBTROHE
:DISPlay:GRID? &ifiR[E] CROSS

:DISPlay:GRID:BRIGhtness

>

anStE:

:DISPlay:GRID:BRIGhtness <count>
:DISPlay:GRID:BRIGhtness?

ThaesEi :

BT RENIESRE, <count>EYEZ 10~100, HFHAMIEES,
IREHE:

EHIREIHEATNIESE.

251

:DISPlay:GRID:BRIGhtness 50 REMIESE 50
:DISPlay:GRID:BRIGhtness? EifIRE] 50

:DISPlay:GRAD:TIME

>

i StE:

:DISPlay:GRAD:TIME
{DSO|MINimum|50ms|100ms|200ms|500ms|1s|2s|5s|10s|20s|INFinite}

:DISPlay:GRAD:TIME?

InggHEiR :
FATFigEfRERE, He DSO RRXIREER.
IREHEI:

HiFIRE{DSO|MINimum|50ms|100ms|200ms|500ms|1s|2s|5s|10s|20s|INFinite},
4451

:DISPlay:GRAD:TIME 50ms RERIZFRIE 50ms
:DISPlay:GRAD:TIME? EifIRE] 50ms
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:DISPlay:COLOR

>  atE:
:DISPlay:COLOR { {1|ON} | {O|OFF}}
:DISPlay:COLOR?

> ThHEHEAR:
RATFREErAmGER ON (F17) & OFF (Xi) .

> IEEE:
EEIRE] 1 & 0, £5LFE ON =% OFF,
> Bl
:DISPlay:COLOR ON EREREFF.
:DISPlay:COLOR? HifRE 1, FREEFTHAREETR.

:DISPlay:COLOR:INVERt

> moiEN:
:DISPlay:COLOR:INVERt { {1|ON} | {O|OFF} }
:DISPlay:COLOR:INVERt?

> IgeiEiR:
BFeEREHRERER ON (FIFF) 5 OFF (%) .

> IEEHER:
HigiRE 1 8 0, 25IXZF ON 8 OFF,
> )
:DISPlay:COLOR:INVERt ON REEBETT.
:DISPlay:COLOR:INVERt? BHifiRE 1, FRESITHREGERETR.

:DISPlay:WAVE:BRIGhtness

> moE:
:DISPlay:WAVE:BRIGhtness <count>
:DISPlay:WAVE:BRIGhtness?

> INBEfEIR:
AT RERVEE, <count>EUE 1~100, HFHXKFHES.

> REE:
EERE SRS E.

> &)
:DISPlay:WAVE:BRIGhtness 50 REKSE 50
:DISPlay:WAVE:BRIGhtness? &iaRME] 50
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:DISPlay:TRANsparent

>  atE:
:DISPlay:TRANsparent { {1|ON} | {O|OFF} }
:DISPlay:TRANsparent?

> ThHEHEAR:
RATREESEH ON (317F) 8 OFF (ki) .

> IREER:
#EFiREl 1 8 0, £5LZE ON B OFF,

> Ef:
:DISPlay:TRANsparent ON FREBRF.
:DISPlay:TRANsparent? #HiERME 1, RRCETHERER,

:DISPlay:CLEar

> SR
:DISPlay:CLEar
> INBEfEIR:
AT ERFRIFRKRFER LAY, RESERE, WiEMRESE R HRIH.

:DISPlay:TYPE

> atEa:
:DISPlay:TYPE {XY12|XY13|XY14| XY23|XY24|XY34|YT}
:DISPlay:TYPE?

> IDHEHEAR:
RATFREREEREE XY12 (X-Y A Ak ERREE 1 18E, EEWEER
EiE 2 1BE, XY13[XY14] XY23|XY24|XY34 H£AEF L) ; YT (Y-T AR BEEEE
S/KERSERAERIRR) .

> IEEgR:
EARRE(XY12|XY13|XY14| XY23|XY24|XY34|YT},

> Ef:
:DISP:TYPE YT IRERERNA YT AR
:DISP:TYPE? EERE YT,
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WAVeform ip %

BT EEURE R EE PR AR R IERS L,
‘WAVeform:MODE

> @tE:
‘WAVeform:MODE  {NORMal | RAW}
‘WAVeform:MODE?
> IDREHER:
NORMal: EEVHRIFRBRRSRIAUE, WRIAUE R EERE,
RAW: EENAFHRGKAEEE, WKFAEREMEFERERX. TR

eSS MiEn

RMEIERRIK RE, AFETRRESIRLAETREFIDRE T A 86T, MATH &

SENSEZ =R
> IEEgR:
EHRE(NORMal | RAW),
> Bl

‘WAVeform:MODE RAW B E R EIEAERER I AFIER

‘WAVeform:MODE? =HiFiRE] RAW
:‘WAVeform:FORMat

> SN
:‘WAVeform:FORMat { WORD | BYTE | ASCII }
‘WAVeform:FORMat?
> IgeHEIA:
TR EREMABRZEUEST, AD I mEE
BYTE: iR[E] AD #iE, —NEFERE—PFT (RBP8 i) .

WORD: iR[E] AD &, —MNEFZRAmNF (B 16 {i7) , €8 Bz, &8 A0,
ASCIl: SREIRFZLR A ST R B =R mASEREEE, SHREEZEUESS R

BAEMRE 2 IEEE 488.2 TiH4IEUEIET,
{5I40:#412342.00000E+01,2.20000E+01, 2.30000E+01.......... \n.,

> BEHE:
ZHABRE{ WORD | BYTE | ASCII },

> E4f:
‘WAVeform:FORMat BYTE Rz AD SUBRIREISH B FTHIER,
:‘WAVeform:FORMat? &#HifR[E] BYT

:‘WAVeform:STARt

> afERt:
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>

‘WAVeform:STARt <start>

‘WAVeform:STARt?

TheefEiA :

RESEERAEUREENACIANIE, <start>EERIEHRESERY,
NORMal: 1 2 1400

RAW: 1 ELRIRARFERERE

IREEE:

HiFRERERE.

25451 :

:WAVeform:STARt 200 REIRAAEEERNEER = /9 200
:WAVeform:STARt? &HigiR[E] 200

‘WAVeform:STOP

>

St

‘WAVeform:STOP <stop>

:‘WAVeform:STOP?

TresiA :

RESERIAIREIE LIS, < stop>EERIHUESRY,
NORMal: < stop>35gE 1 & 1400

RAW: < stop>BEl 1 ELRIRANFEREREL

IREEE:

HiFREE LS.

25650

:‘WAVeform:STOP 400 RERFEIEEERIZER R /9 400
:WAVeform:STOP? EifiR[E] 400

:‘WAVeform:SOURce

>

wmoiEN:
:‘WAVeform:SOURce {CHANnel<n>| MATH}
‘WAVeform:SOURce?

ThgeHEiA:

AT eESREEIREURNGESE, IRARXZIES, T REEHARIBERTRE
HUE.

IBEE:

#ifiRE{ CHANnel1 | CHANnel2| CHANnel3| CHANnel4 | MATH },

2451

:WAVeform:SOURce CHAN1 RELFETHRIAURNES R AEE—
:‘WAVeform:SOURce? &ifiR[E CHANnell
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‘WAVeform:POINts

>

i SHE:

‘WAVeform:POINts  <points>

‘WAVeform:POINts?

TnaeHEIA:

FAFREREREINEF A2, BIAMEA 0.

IBEEI:

HiFREIFEZEREIRYKA RE.

24451 -

:WAVeform:POINts 120 REFEIREIRY 120 NEFZREL
:WAVeform:POINts? &HigiR[E 120

:‘WAVeform:DATA?

>

>

wmSigt:

‘WAVeform:DATA?

ThEesEiA :

B R R RIRAZEE.

IREHE:

WAVeform:POINts 1§ EMERETEYE, KEIEERES WAVeform:SOURce 15X, #{
#Et8U5 WAVeform:FORMat 18X , IREIFEHRFFEHMIR 2: IEEE 488.2 —HHIEHEIET.
25451 :

RSEELIERR R AEIES INFERITUT :

¢ FIERFERAIERE

:‘WAVeform:SOURce CHAN1 REISNESRTEENES R BEE—
:WAVeform:MODE NORMal REENFEENRIEE
‘WAVeform:FORMat BYTE IRFEUERIREIRE TN AD B==T5EL,
:WAVeform:DATA? RIGIRA AR

& FERTEEFSERE, WRERGEELRETER

:‘WAVeform:SOURce CHAN1 REINEEORTEUENEES R ABE—
:WAVeform:MODE RAW REENAFKIAGE

:WAVeform:FORMat BYTE IR ERANREIE 0 AD BFTIRR
:‘WAVeform:POINts 5000 EENAFERFRE 5000
ERENANER AR

{

‘WAVeform:DATA? RIENTFPR—RAYEFEEE
:‘WAVeform:START? IR AR AR E, -1 FREIRE— R

}
7B DHORIEENRFEUER, SRERREERZAFTP—REKIEAVEE, BBRRE
RORIZ AR, BREUERSMIR 2: |EEE 488.2 —HHIHIRIER
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>

:WAVeform:PREamble?

wmSigt:
‘WAVeform:PREamble?
ThEesEiA :
HOREEFIRFARLIRES .
IREHE:

HFREILUES " &H.

IREIRYEHETET: Format, Type,Points,Count, Xinc,Xor, Xref,Yinc,Yor,Yref,
Format: BYTE (0). WORD (1), ASCII(2),

Type: NORMAL(0). PEAK(1). AVER(2). HRESolution(3),
Points: FERERTEAEUEREL.

Count: FEYHIRETHEYRE, He&Ez{Th 1,

Xinc: IRFZEGREIR X AAMRZ BRI EE,

Xor: fi& RIEXIAT A,

Xref: X B,

Yinc: Y J3RIER{UR)E.

Yor: Y F5EHERS YREF HEEME.

Yref: Y FRE&%EE, BEEREY ADCE.

25451 :

‘WAVeform:PREamble? iR
1,0,0,1,8.000e-009,-6.000e-006,0,4.000e-002,10,128

:‘WAVeform:XINCrement?

>

i SE:

‘WAVeform:XINCrement?

TheefEiz :

RTFEASRNETEER X 750 L8RM A Z ERYETEERE.

REES SRIREUESERRIEX :

NORMal #zX T, XINCrement=TimeScale/AtEiSi#mAKAZSE1(50).
RAW &=, XINCrement=1/SampleRate,

IREHEI:

EiFRERSES, 24 s,

) -

:‘WAV:XINC? &HifiR([E 3.000e-003

:WAVeform:XORigin?

>

amSE:
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:WAVeform:XORigin?
> INeEfEIR:
ERSRNETEER X 73R DR EIERIEIARTE,
REESHRRESIRZIRIVEX, MARNEAT, EERZEIARE:
NORMal #&=z(T, REIFREERATKAZEIERTELAATE: XORIgin = -1*TimeScale*7,
RAW KR AT, BEEREFEFRKRFEHENERAMME, XORgn = -1*
(SamplePoints/SampleRate)/2,

> IREHE:
EERERENE, B s,
> 4
‘WAV:XOR? E=ifiRE] 3.000e-002

:WAVeform:XREFerence?

> wSEN:
‘WAVeform:XREFerence?
> IgeHEIA:
HaSpnstEER X AR ORI ESEREE —EES.

> IEEHgR:
BigsEMEEE, TaRE 0,
> )
:‘WAV:XREF? HifikE 0

‘WAVeform:YINCrement?

>  wSEN:
‘WAVeform:YINCrement?
> IfgeHEA:
ERSEEERY AR LRMBEE, PASHAEERA—H.
REES SRIIEUEEREIEX :
YINCrement = VerticalScale/TE& I\ EIEH 2 E2(25).,

> IEEgR:
HiFRE Y FRRBEEE.
> )
‘WAV:YINC? &HifiR[E] 2.000e000

:WAVeform:YORigin?
> atEa:

‘WAVeform:YORigin?
> DaefEid:
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ERSERNETRERY SR LENTEESEVENERRE.
REESSRIREIRSERIEX, ISE AR EIETR:
YORIigin = VerticalOffset/YINCrement,

IREHE:

ENREERRE, BHERE.

2551

:WAV:YOR? HigikME 10

:WAVeform:YREFerence?

>

wmoiE:
‘WAVeform:YREFerence?

ThaesEik :

ERSmATEERY TEONEESENUE, BETRBFA ADCIE.

REESHBINEREEUEMEX: YREFerence EES 128,
IREEE:

BERESENS, BEHERE,

25451

‘WAV:YREF? &Hifik[E] 128
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SBUS &5 &

FFiRERKES RS232, SPI. 12C HFRLLMRBFIMAIBRESEL.

:SBUS:DISPlay

> wSE:
:SBUS:DISPlay  { {1|ON} | {O]OFF} }
:SBUS:DISPlay?
> IDHEHER:
FFIRERKE SRS ON (3TH) & OFF (XiF) .
> IREfEN:
=ifIRE] 1 8 0, $251HLER ON 5 OFF,
> &l
:SBUS:DISPlay ON FIFF R RN, T RiSiR
:SBUS:DISPlay? HifiRME 1

:SBUS:MODE

> o
:SBUS:MODE  { R$232 | 12C | SPI}
:SBUS:MODE?
> TheekdiR:
R RRes RN S R R AL AR R,
> IREEIE:
ZHEIRE RS232 | 12C | SPI ),
> Hf:
:SBUS:MODE 12C RS 12C R&LEBEL
:SBUS:MODE? F=FiFiRME| 12C

:SBUS:BASE

> wSE:
:SBUS:BASE {ASCII | BINary | HEX | DEC}
‘SBUS:BASE?

> IgeEiR:
ATFRERKEERIE T MEL.
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> IEEHE:
#ifiR([E] {ASCII | BINary | HEX | DEC},

> )
:SBUS:BASE BIN RE RSN i B gl
:SBUS:BASE? Z5IR[E BINary

:SBUS:EVENt

> mSER:
:SBUS:EVENt { {1|ON} | {O|OFF} }
:SBUS:EVEN{t?
> TheekdiR:
AT RERKSERIEZEM ON (F1H) 8 OFF (Xi) .
> IREEIE:
=fRE 1 8 0, £5LE ON 5 OFF,
> )
:SBUS:EVENt ON %S
:SBUS:EVENt? HiFRE 1

:SBUS:DATA?

>  wSEN:
:SBUS:DATA?
> IgeHER:
SRR e AR IS SR AR,
> IEEHE:
ERREFBEHRPEEE, RENESIERFSHIR 2. IEEE 488.2 —HHIEHEIET,
>
:SBUS:DATA? &ifiR[E:
#9000000089RS232,
TIME,DATA,CHECK,
-1us,0,0,
-890.5ns,1,0,
-403.4ns,0,0,
9.8ns,1,0,
531.7ns,0,0,
RS232 R RABEE (1XJEE 12C 8 SP1 %) |, JSERIR CSV 8IS HREUE, S
FHENEMEXBAEIREEhER, HELNESHT, SREREIIRINITEhIET,
HRESRENHEIETHEX.
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:SBUS:TRIGger:-MODE

> moE:
:SBUS:TRIGger:MODE {RS232 | I2C | SPI }
:SBUS:TRIGger:MODE?

> INBEfEIR:
AT RERKEERIS SR =,

> iREER:
&HifR[E{RS232 | 12C | SPI },

> &
:SBUS:TRIGger:MODE 12C
:SBUS:TRIGger:MODE?

:SBUS:VERTical:POSition

> ol
:SBUS:VERTical:POSition <value>
:SBUS:VERTiIcal:POSition?

> IDEEHEA:

BT RETRENEEMAEENEER. SHERENER,

DESEHUOATR, LIETA,
> IEEHE:
HiOREIEEEE.
>
:SBUS:VERTical:POSition 10
:SBUS:VERTical:POSition?

:SBUS:TRIGger:SWEep

> atEa:
:SBUS:TRIGger:SWEep{AUTO|NORMal|SINGle}
:SBUS:TRIGger:SWEep?

> IDHEHEAR:
T ifR R AR AR,

BE 12C bk
ZRARRE 12C

£t 6, BEA[-160,160],

FIFREERNEEN 10
HimixE 10

AUTO (Baf) : EREMAFHRERT, REMSTEMAES, BHMA.

NORMal (&) : REmEMEFHIAREMA.

SINGle (BR) : AEMEMARMHER MEHT XK, AEEL.

> IRMEER:
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iRl AR AUTOINORMal|SINGIe },

> &
:SBUS:TRIGger:SWEep AUTO
:SBUS:TRIGger:SWEep?

:SBUS:RS232:BAUDrate

> o
:SBUS:RS232:BAUDrate <baudrate>
:SBUS:RS232:BAUDrate?

> INgEHEIA:

FIFIRERIKESHY RS232 B LLARIDIRITER,

> IEEHE:
ERIREIRIFE,

> )
:SBUS:RS232:BAUDrate 500
:SBUS:RS232:BAUDrate?

:SBUS:RS232:BlTorder

> adfER:

RELSRAREEINI B
Himix[E AUTO

SHOEER, SBEJ9 120~5000000,

RE RS232 45 /9 500b/s
HimikE 500

:SBUS:RS232:BITorder {LSBFirst | MSBFirst}

:SBUS:RS232:BlTorder?
> INgEHEIA:

BFi&ERIFEEMI RS232 REEBIB=F 15, LSBFirst /\igtaEzt,. MSBFirst AimisEzt,

> IREER:
EiFIR([E{LSBFirst | MSBFirst},
>
:SBUS:RS232:BITorder LSBF
:SBUS:RS232:BlTorder?

:SBUS:RS232:SOURCce

> adfER:

I8E RS232 =15/ LSB
&i8iR[a] LSBFirst

:SBUS:RS232:SOURce { CHANnel1 | CHANnel2| CHANnel3| CHANnel4 }

:SBUS:RS232:SOURce?
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> INgEHEIAR:
TS BEEEM RS232 RLkARIGIR,

> IEEHE:
#HifiR[E{ CHANnel1 | CHANnel2| CHANnel3| CHANnel4 },

>
:SBUS:RS232:SOURce CHANnNel1 RE@EE—/ RS232 B4 H# LR
:SBUS:RS232:SOURce? &HifiR[E] CHANnel1

:SBUS:RS232:POLarity

> weE:
:SBUS:RS232:POLarity { POSitive | NEGative }
:SBUS:RS232:POLarity?
> IgeHER:
TR ERKESH) RS232 BLLi#rotkiE., POSitive (LEF) . NEGative (TFF#) .

> iREHE:
HifiR([E]{ POSitive | NEGative },

>
:SBUS:RS232:POLarity POSitive RE RS232 R MRSk N LT
:SBUS:RS232:POLarity? &ifmiR[E POSitive

:SBUS:RS232:PARity

> mPiEN:
'SBUS:RS232:PARity {EVEN | ODD | NONE}
:SBUS:RS232:PARity?

> IgeHER:
TR BRI RS232 RELZ B,

> IEEHE:
ZEIRE{EVEN | ODD | NONE},

> )
:SBUS:RS232:PARity ODD iRE RS232 Rk EHEM AT
:SBUS:RS232:PARity? &HifikE ODD

:SBUS:RS232:DATA:BIT

> o
‘SBUS:RS232:DATABIT {5|6]7|8}
:SBUS:RS232:DATA:BIT?
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> INgEHEIAR:
FAFEBEEEM RS232 L EURENL,

> IRE#ER:
BEERES |67 8).

> %l
:SBUS:RS232:DATABIT 6 188 RS232 HUENIN 6
:SBUS:RS232:DATA:BIT? HifiR[E 6

:SBUS:RS232:STOP:BIT

> moiEN:
:SBUS:RS232:STOP:BIT {1]2}
:SBUS:RS232:STOP:BIT?

> IgeHER:
FBTIRERREEH RS232 RUEL(Z LA,

> IEEHE:
=HifEiRE(1 |2},

> )
:SBUS:RS232:STOP:BIT 6 ®E RS232 =179 6
:SBUS:RS232:STOP:BIT? HifiR[E 6

:SBUS:RS232:DATA

> o
:SBUS:RS232:DATA <value>
:SBUS:RS232:DATA?
> IgeHER:
FFIRERiKesHY RS232 Bt/ EHRE. 5800 05 1 TN THHIFRELUE, EeE
5:SBUS:RS232:DATABIT 15K ERYEIEX, A[0~2 databit — 1],

> IEEHgR:
EiFRE THEIF R RIEBIEYE.,

>
:SBUS:RS232:DATA "01111111" RE RS232 RE&EURE9 OXTF
:SBUS:RS232:DATA? EEIRE 01111111

:SBUS:RS232:QUALiIfier

>  atEa:
:SBUS:RS232:QUALifier {BEGFrame | ERRFrame | ECCError | DATA}
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:SBUS:RS232:QUALifier?
> TaefEid:
BFI&EEEEH RS232 kR 514,

> REHE:
&HifiRE{BEGFrame|ERRFrame|ECCError|DATA},

> Ef:
:SBUS:RS232:QUALifier ERRF IRE RS232 R F M NHEIRIA
:SBUS:RS232:QUALIfier? &ifR[E] ERRFrame

:SBUS:I12C:CLOCk:SOURce

> woE:
:SBUS:12C:CLOCk:SOURce { CHANnel1 | CHANnel2| CHANnel3| CHANnel4 }
:SBUS:12C:CLOCk:SOURce?

> IhEEREIR:
FFREREESE 12C BRI HE.

> iREfER:
#ifiRE{ CHANnel1 | CHANnel2| CHANnel3| CHANnel4 },

> Efl:
:SBUS:12C:CLOCk:SOURce CHANnel1 REBE—A 12C BRI HR
:SBUS:12C:CLOCk:SOURCce? &ifiR[[E CHANnel1

:SBUS:I12C:DATA:SOURce

> atEa:
:SBUS:12C:DATA:SOURce { CHANnel1 | CHANnel2| CHANnel3| CHANnel4 }
:SBUS:12C:.DATA:SOURce?

> TDHEHEAR:
FFREREERE 12C BELEIER.

> iREER:
#ifiRE{ CHANnel1 | CHANnel2| CHANnel3| CHANnel4 },

> Efl:
:SBUS:12C:DATA:SOURce CHANnel1 RBIBE— 12C BEHIRR
:SBUS:12C:DATA:SOURce? &ifiR[[E] CHANnel1
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:SBUS:12C:ASIZe

> SN
:SBUS:12C:ASIZe {7 | 10}
:SBUS:I2C:ASIZe?

> IfgeHEiA:
BF&ERKEESY 12C BZlHUEs.,

> IEEHgR:
E=ifIREN7 | 10},

> )
:SBUS:12C:ASIZe 7 RE 12C Bty A 7
:SBUS:I2C:ASIZe? HifiRE 7

:SBUS:12C:ADIRection

> SN
:SBUS:12C:ADIRection { READ | WRITE }
:SBUS:12C:ADIRection?

> IfgeHEiA:
BF&EREEEY 12C Bkttt Am,

> IRERER:
EifRE{ READ | WRITE },

>
:SBUS:12C:ADIRection READ IRE 12C Rt 5 M/
:SBUS:I2C:ADIRection? &EifiR[E] READ

:SBUS:12C:ADDRess

> PN
:SBUS:I2C:ADDRess <value>
:SBUS:12C:ADDRess?
> IgeHEiAR:
RATFiRERiKER 12C B&itbit, S808 08 1 RRNITHHIFRFELHE, HBE
5:SBUS:[2C:ASIZe 18518 BRVEHEX, F[0~2"addressbit — 1],

> IEEHE:
EiFRE Z#HHIF R RIIHE.,

> Bl
:SBUS:I2C:ADDRess "01111111" ®’E 12C B&iteitn Ox7F
:SBUS:12C:ADDRess? EHifiRE 01111111
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:SBUS:12C:QUALifier

> adfER:
:SBUS:12C:QUALifier {STARt | RESTart | STOP | LOSS | ADDRess | DATA | ADATA}
:SBUS:12C:QUALIfier?

> DaefEid:
RTFRERKEERT 12C BEitR 5.

> IREHE:
ZIRESTARt | RESTart | STOP | LOSS | ADDRess | DATA | ADATA},
>
:SBUS:12C:QUALifier STOP RE 12C B&EMHHELE
:SBUS:12C:QUALifier? &EifiR[E STOP

:SBUS:I2C:DATA:LEN

> moE:
:SBUS:I2C:DATA:LEN <length>
:SBUS:I2C:DATA:LEN?

> INBEfEIR:
BT IRETRKERR 12C BEfAEIERE, BUEEE 1~5.

> IEEHgR:
EHiFRERKRRA 12C SEMASIRRKE, AR,

> %l
:SBUS:I2C:DATA:LEN 2 RE 12C BEMAEIRKEN 2 1MNFT
:SBUS:I12C:DATA:LEN? HifiR[E] 2

:SBUS:I12C:DATA

> PN
:SBUS:I2C:.DATA <value>
:SBUS:I2C:.DATA?
> IgeHEiAR:
FTFRERREN 12C SAHIE, SH00 05 1 TRUTHHITHREIE, HEUETE
0x0~OxFFFFFFFFFFFFFFFF,

> IRE#ER:
EiFRE ZHEIF R RBEUE.

> )
:SBUS:I2C:DATA "1111111111111111" RE 12C BB UE /9 OXFFFFF
:SBUS:I12C:DATA? EHERE 1111111111111111
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:SBUS:SPI:CS:SOURce

> @tEs:
:SBUS:SPI:CS:SOURce { CHANnel1 | CHANnel2| CHANnel3| CHANnel4 }
:SBUS:SPI:CS:SOURce?

> IDHEEAR:
FFRERiKeERY SPl B RIEIR.

> IREER:
&HifiRE{ CHANnel1 | CHANnel2| CHANnel3| CHANnel4 },

> E4f:
:SBUS:SPI:CS:SOURce CHANnNel1 REBE—H SPI B& %R
:SBUS:SPI:CS:SOURce? &ifiR[E CHANnell

:SBUS:SPI:CLOCk:SOURce

> SR
:SBUS:SPI:CLOCk:SOURce { CHANnel1 | CHANnel2| CHANnel3| CHANnel4 }
:SBUS:SPI:CLOCk:SOURce?

> INEEfEIR:
FATFIRERIKERRY SPI ST iR,

> IREER:
#HifiR[E{ CHANnel1 | CHANnel2| CHANnel3| CHANnel4 },

> Bl
:SBUS:SPI:CLOCk:SOURce CHANnel1 REBE— SPI B&ATHR
:SBUS:SPI:CLOCk:SOURce? &ifiR[E] CHANnell

:SBUS:SPI:MOSI:SOURce

> adER:
:SBUS:SPI:MOSI:SOURce { CHANnel1 | CHANnel2| CHANnel3| CHANnel4 }
:SBUS:SPI:MOSI:SOURce?
> INEEfEIR:
FRTFIRERKEER SPI BZ& I MTERNIR,
> IRERER:
&ifiR[E{ CHANnel1 | CHANnel2| CHANnel3| CHANnel4 },
> &
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:SBUS:SPI:MOSI:SOURce CHANnel1 REIBE—A SPI =S HE M ENIR
:SBUS:SPI:MOSI:SOURce? #Hifik[E CHANNel1

:SBUS:SPI:BITorder

> SN
:SBUS:SPI:BITorder {LSBFirst | MSBFirst}
:SBUS:SPI:BITorder?
> IfgeHEA:
TR ENKERRT SPI S RRISF 5%, LSBFirst Nmt&Ez,. MSBFirst Kimt&zt.,

> IEEgR:
EiFIR[E{LSBFirst | MSBFirst},

> &4
:SBUS:SPI:BITorder LSBF ®E& SPI =15 /F 5 LSB
:SBUS:SPI:BITorder? EifiR[E] LSBFirst

:SBUS:SPI:CS:POLarity

> SR
:SBUS:SPI:CS:POLarity {NEGative | POSitive}
:SBUS:SPI:CS:POLarity?
> INEEfEIR:
BF&&ERiKEESA0 SPI B RiEthkit, POSitive (EF) . NEGative (%) .

> IREHE:
HiFIR[E{NEGative | POSitive},

> &
:SBUS:SPI:CS:POLarity POSitive RE SPI & Rtk EF
:SBUS:SPI:CS:POLarity? &ifik[E POSitive

:SBUS:SPI:CLOCk:POLarity

> @tE:
:SBUS:SPI:CLOCk:POLarity {NEGative | POSitive}
:SBUS:SPI:CLOCk:POLarity?
> TDHEHEAR:
BF&&ERiKEESA0 SPI B&htelkiE, POSitive (EF) . NEGative (%) .
> iEEE:
HiFIR[E{NEGative | POSitive},
> &l
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:SBUS:SPI:CLOCk:POLarity POSitive REIB SPI SR EpiR A EF+
:SBUS:SPI:CLOCk:POLarity? &ifik[E POSitive

:SBUS:SPI:MOSI:POLarity

> o

:SBUS:SPI:MOSI:POLarity {NEGative | POSitive}

:SBUS:SPI:MOSI:POLarity?
> INEEfEIR:

BT RERKEER SPI R&ENEHMIIMARME. POSitive (EF) . NEGative (TFB%).
> iREER:

HifFIR[E{NEGative | POSitive},

> &l
:SBUS:SPI:MOSI:POLarity POSitive IRE SPI EA 4 AU EF
:SBUS:SPI:MOSI:POLarity? &ifik[E POSitive

:SBUS:SPI:WIDTh

> wSEN:
:SBUS:SPI:WIDTh <width>
:SBUS:SPI:WIDTh?

> IfgeHEiA:
FBFigEKEEE SPl BEEUR[E.
<width>Z8EYE, SBE 4~32,

> IRE#ER:
EifiR([E] SP| B EEHUEAE.

> %l
:SBUS:SPI:WIDTh 4 RE SPl BLLEURMET N 4
:SBUS:SPI:WIDTh? HifiR[E 4

:SBUS:SPI:FRAMelen

> S

:SBUS:SPI:FRAMelen <len>

:SBUS:SPI:FRAMelen?
> ThEEEIA:

FBFi&EEEEA SPl REEURMIKE.

<len>EAUEHRE, S8E 1~32, HAP#HIRAS SUBMIKEAREY 128 (U#4E.
> iREHE:
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EMREDEEIENIKE.

- K
:SBUS:SPI:FRAMelen 1 ’E SPI & HIEMKESN 1
:SBUS:SPI:FRAMelen? HiFiRME] 1

:SBUS:SPI:DATA

> SR
:SBUS:SPI:DATA <value>
:SBUS:SPI:DATA?
> IgeEiR:
FAFIRENKERH SPI B4k DATA BUE, 4080, 18 X RN THBIFHEHE, H
X " AHE, EHEIETE S 0x0~0xFFFFFFFFFFFFFFFF,

> IEEHE:
EiFRE ZHEIF R,

> )
:SBUS:SPI:DATA "X00X00X1" RE SPI B ZE0HE/S X00X00X1
:SBUS:SPI:DATA? HiFR[E] X00X00X1

:SBUS:SPI:QUALifier

> wtE:
:SBUS:SPI:QUALifier {IDLE|IDLEDATA|CS|CSDATA}
:SBUS:SPI:QUALifier?

> IhHEHEAR:
FATFIRERIKERHY SPI R,

> IEEHE:
Z5ERE{I DLE|IDLEDATA|CS|CSDATAY,

>
:SBUS:SPI:QUALifier IDLE RE 12C B&EHATR
:SBUS:SPI:QUALifier? &EifiR[E IDLE

:SBUS:SPI:TRIGger:TIMeout

> moE:
:SBUS:SPI:TRIGger:TIMeout <vlaue>
:SBUS:SPI:TRIGger:TIMeout?

> INeEfEIR:
BT IRERKARRY SPl RERAERTHTE, SEHERRNER,
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<vlaue> FF n* 4ns BEFEEIZ[100ns,1s) S8, n BIEESERE [25,25%1078].

> iEEE:
ERREfRAENEEE, RARFTHENE, B s,

> &
:SBUS:SPI:TRIGger:TIMeout 100ns RE SPI Rkt BERTATE) 9 100ns
:SBUS:SPI:TRIGger:TIMeout? &EifiR[E 1.000e-007




fmizisip

FRATE AR EIS AR AT AR I — L DR AR5 . BRI X LEIER
B, EHEARERIAIABATH TR,
RIS

RIEBESIT/ENERTHE Windows BIERF TR Visual Studio 0
LabVIEW Fr& T E#H{THE.

BETHMANEGHNERERERSTEELERLTE N B VISA E (97
https://www.ni.com/en-ca/support/downloads/drivers/download.ni-visa.
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VISA fRizfl

ATEH T —EmERG, BTG, (RETLIT f#a0EER VISA, HEE
RIETFIRYAE < SCUH YRR ERYIEH. BT FERIGIF, (R LT AESNA.
VC+ +755

1.

INE: Window %, Visual Studio,

f#iR: EiT USBTMC #1 TCP/IP ip[a{Y25i1R &, HE NI-VISA E&iX
"*IDN?"ap < KEIIREES.

TE:

¥JFF Visual Studio {4, #HiE— VC++ win32 console project,
IREIEA NI-VISA FERIRBINEG, 55055 EMESE.

BRI -

£ NI-VISA LR ZHk visa.h, visatype.h. visa32.lib 324, EE(i154!
B VC++InBRIEREIE FHIAINZIIIE H. 7£ projectname.cpp X4 L
IIRZFEI TS :

#include "visa.h"

#pragma comment(lib,"visa32.lib")

oS
mi"project>>properties”, FEBMEXHEELMIEE" c/c++---General"
1, & "Additional Include Directories"IREYEIZE Y NI-VISA BULEEER
£, (Ban: C:\ProgramfFiles\IVI Foundation\VISA\WinNT\include),40~
Elff7:
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USBINC WriteBead Property Pages

Configaration: |Active (Debug) *| Platform: [Aetive Win3Z) *|  Configawation Manager. .. [
2 Configaration Froperti " Additional Include Directorie C:%\Progrom FilesiI¥T Foundationi¥ISk
General Bezolwe #using References
Debugging Debug Information Format Program Database for Edit & Continme
& C/oH Suppress Stariup Banner Tas (Fmologe)
& General Warning Level Lewel 3 (/3]
Optimization Detect 64-bit Fortability Iss Tes (/¥pB4)
Fraprocessor Treat Warnings Az Errors Ho
Code Generation
Language
Frecompiled Hea
Outiput Files
Browse Informat
Advanced
Command Line
1 Linksr
] Brewze Information
C1 Build Events
1 Custem Build Step
(20 Feb Deployment
|Addi tional Include Directories
Specifiez one or more directories Lo add Lo the include path: usze zemi=
= 5 eslen delimited list if more than one. Ilpath])

(114 Cancel | |  Help |

£ Bt %7 3F 1& A M 3% $% "Linker-General", 3t 4% "Additional Library
Directories"INAYEIR E A NI-VISA UL KR, (Bla0: C\Program
Files\IVI Foundation\VISA\WinNT\include), #0 &k :

USETRC_WriteRead Property Pages IX<
Configuration: |Active (Debug) | Platform: [Active(fin32) =] Configaration Manager. .. ]
©J Configuration Propertj Dutput File $ (0utDir) /USETEC_TriteEend. exe

General Show Frogress Hot Set
Debugging Version
[:_"ICA’CH Ensble Incremental Linking Tes (FINCEENENTAL)
= Linker Suppress Startup Banner e
@ General Ignore Import Library Ho
Trgrat , Regizter Output Ho
2'““"“ Additional Library Directorie C:\Program Files\IVI Foundation\VISA
¥stem
Optimization
Embedded IDL
Advanced

Command Line
L) Browse Information
(3 Baild Ewvents
L) Custom Build Step
(L) Yeb Deployment

Dutput File
Override the default cutpat file name. LOUT: [£ile])

|
|~

LS I Cancell ﬂ Help I
EEMHEIEALMIERR" Linker-Command Line" 35" Additional "TREYEIR
B9 visa32.lib, W TFEFRR:




USBETEC_WriteRead Property Pages [El

Configuretion: |Active Dabug) =] Platfom: [Active®ini2) =] Configaration Mensger... |

=3 Configuration Froperti| ALl Options:

irasineal, FOUT - *Debug/ USETHC_Wri teRead sxe” /INCRENENTAL JHOLOGO
Debugging /PUE: “Debug/USETHC ¥riteRead pdb™ FSUBSTSTEN:CORSOLE /MACHINE:X86
acices kernel32 1ib user3? lib gdi32 1ib winzpool lib comdlgd? 1lib
&3 Link advapi32. lib shell32 1ib ole32. lib oleaut32 1ib weid 1ib odbe32 lib
Ml LI odbeep32. 1ib
General
Input
Debagging
Syslen
Optimization
Esbedded IDL
hdvanced

g Command Line Additional Optiecns:
=] Fr?:;g Information isa32. 1ib
23 Build Events
L] Custom Build Step
!:“I Fab Deployment

(1] 4 Cancel | Help

£ projectname.cpp 324 7N visa.h X4

#include <visa.h>
&6

USBTMC 75:/71
int usbtmc_test()
{ /** This code demonstrates sending synchronous read & write commands
* to an USB Test & Measurement Class (USBTMC) instrument using NI-VISA
* The example writes the "*IDN?\n" string to all the USBTMC
* devices connected to the system and attempts to read back
* results using the write and read functions.
* Open Resource Manager
* Open VISA Session to an Instrument
* Write the Identification Query Using viPrintf
* Try to Read a Response With viScanf
* Close the VISA Session*/
ViSession defaultRM;
ViSession instr;
ViuInt32 numlinstrs;
ViFindList findList;
ViStatus status;
char instrResourceString[VI_FIND_BUFLEN];
unsigned char buffer[100];
inti;
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status = viOpenDefaultRM(&defaultRM);
if (status < VI_SUCCESS)

{

}

printf("Could not open a session to the VISA Resource Manager!\n");
return status;

/*Find all the USB TMC VISA resources in our system and store the number of resources

in the system in numinstrs.*/

status = viFindRsrc(defaultRM, "USB?*INSTR", &findList, &numlnstrs,
instrResourceString);

if (status<VI_SUCCESS)

{

}

printf("An error occurred while finding resources. \nPress Enter to continue.");
fflush(stdin);

getchar();

viClose(defaultRM);

return status;

/** Now we will open VISA sessions to all USB TMC instruments.

*

*

*

*

*

We must use the handle from viOpenDefaultRM and we must

also use a string that indicates which instrument to open. This

is called the instrument descriptor. The format for this string

can be found in the function panel by right clicking on the
descriptor parameter. After opening a session to the

device, we will get a handle to the instrument which we

will use in later VISA functions. The AccessMode and Timeout
parameters in this function are reserved for future

functionality. These two parameters are given the value VI_NULL. */

for (i = 0; i < int(numlnstrs); i++)

{

if (i >0)
{
viFindNext(findList, instrResourceString);
}
status = viOpen(defaultRM, instrResourceString, VI_NULL, VI_NULL, &instr);
if (status < VI_SUCCESS)
{
printf("Cannot open a session to the device %d.\n", i + 1);
continue;
}
/** At this point we now have a session open to the USB TMC instrument.
*We will now use the viPrintf function to send the device the string "*IDN?\n",
*asking for the device’ s identification. */
char * cmmand = "*IDN?\n";

status = viPrintf(instr, cnmand);
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if (status < VI_SUCCESS)

{
printf("Error writing to the device %d.\n", i + 1);
status = viClose(instr);
continue;

}

/** Now we will attempt to read back a response from the device to
*the identification query that was sent. We will use the viScanf
*function to acquire the data.

*After the data has been read the response is displayed. */

status = viScanf(instr, "%t", buffer);

if (status < VI_SUCCESS)

{
printf("Error reading a response from the device %d.\n", i + 1);
}
else
{
printf("\nDevice %d: %s\n", i + 1, buffer);
}

status = viClose(instr);
}
/*Now we will close the session to the instrument using viClose. This operation frees all
system resources.*/
status = viClose(defaultRM);
printf("Press Enter to exit.");
fflush(stdin);
getchar();
return O;

int _tmain(int argc, TCHAR* argv[])

{

usbtmc_test();
return 0;

b) TCP/IP 7~
int tcp_ip_test(char *plP)

{

char outputBuffer[VI FIND _BUFLEN];

ViSession defaultRM, instr;

ViStatus status;

/* First we will need to open the default resource manager. */
status = viOpenDefaultRM(&defaultRM);
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if (status < VI_SUCCESS)
{
printf("Could not open a session to the VISA Resource Manager!\n");
}
/* Now we will open a session via TCP/IP device */
char head[256] = "TCPIPO::";
char tail[] = "::inst0:INSTR";
strcat(head, plP);
strcat(head, tail);
status = viOpen(defaultRM, head, VI LOAD CONFIG, VI_NULL, &instr);
if (status < VI_SUCCESS)
{
printf("An error occurred opening the session\n");
viClose(defaultRM);
}
status = viPrintf(instr, "*idn?\n");
status = viScanf(instr, "%t", outputBuffer);
if (status < VI_SUCCESS)

{
printf("viRead failed with error code: %x \n", status);
viClose(defaultRM);
}
else
{
printf("\nMesseage read from device: %*s\n", 0, outputBuffer);
}

status = viClose(instr);
status = viClose(defaultRM);
printf("Press Enter to exit.");
fflush(stdin);

getchar();

return 0O;

int _tmain(int argc, TCHAR* argv([])

printf("Please input IP address:");
char ip[256];

fflush(stdin);

gets(ip);

tcp_ip_test(ip);

return O;

}

B IfE: Window &%, Visual Studio,
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f#ik . @id USBTMC #0 TCP/IP i5[A){X 281k %, F7E NI-VISA ERIX
"*IDN?"8ap < KEITREES.

LB

¥JFF Visual Studio &4, #hiE—~ C# console project,

00 VISA By C#5| A Ivi.Visa.dll #1 Nationallnstruments.Visa.dll,

EVEK

USBTMC 7-451

class Program

{

void usbtmc_test()

{

using (var rmSession = new ResourceManager())
{
var resources = rmSession.Find("USB?*INSTR");
foreach (string s in resources)
{
try
{
var mbSession = (MessageBasedSession)rmSession.Open(s);
mbSession.RawlO.Write("*IDN?\n");
System.Console.WriteLine(mbSession.RawlO.ReadString());
}

catch (Exception ex)

{

System.Console.WriteLine(ex.Message);

void Main(string[] args)
{

usbtmc_test();

}

b) TCP/IP 7/

class Program

{
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void tcp_ip_test(string ip)
{

using (var rmSession = new ResourceManager())
{
try
{
var resource = string.Format("TCPIP0::{0}::inst0:INSTR", ip);
var mbSession = (MessageBasedSession)rmSession.Open(resource);
mbSession.RawlO.Write("*IDN?\n");
System.Console.WriteLine(mbSession.RawlO.ReadString());
}

catch (Exception ex)

{

System.Console.WriteLine(ex.Message);

void Main(string[] args)
{
tcp_ip_test("192.168.20.11");

VB 35l

B IfE: Window &%, Microsoft Visual Basic 6.0,

W AR @13 USBTMC #1 TCP/IP i5[A1{Y 88 IR &, FH7E NI-VISA b&Rix
"*IDN?"8p < KEIIREES.

m PER

1. ¥TFF Visual Basic 84, F#rE—MRERIN AREFIE.

2. iREIEM NI-VISA FEINHIE: = Existing tab of Project>>Add
Existing Item, £ NI-VISA &KX TR "include" XX HEHK
visa32.bas R INZIAE. W TFERR:
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Add Nodule

Hew Exizting I
Look in: | 5 include -| &= ® ¥ -
qtppl.rpt baz
File name:; [vize32. bas Open @)
Files of type: |Basie Files (= bas) ~| et
Help (H)

[T Don' ¢t show thiz dialog in the fyture

PR
USBTMC 73~451l

PrivateFunction usbtmc_test() AsLong

' This code demonstrates sending synchronous read & write commands
' to an USB Test & Measurement Class (USBTMC) instrument using NI-VISA
' The example writes the "*IDN?\n" string to all the USBTMC

" devices connected to the system and attempts to read back

" results using the write and read functions.

' The general flow of the code is

' Open Resource Manager

" Open VISA Session to an Instrument

" Write the Identification Query Using viWrite

' Try to Read a Response With viRead

' Close the VISA Session

Const MAX_CNT = 200

Dim defaultRM AsLong

Dim instrsesn AsLong

Dim numlnstrs AsLong

Dim findList AsLong

Dim retCount AsLong

Dim status AsLong

Dim instrResourceString AsString *VI_FIND_BUFLEN
Dim Buffer AsString * MAX_CNT

N
\S}

(98]

w




Dim i Asinteger

" First we must call viOpenDefaultRM to get the manager

" handle. We will store this handle in defaultRM.

status = viOpenDefaultRM(defaultRM)

If(status < VI_SUCCESS) Then
resultTxt.Text = "Could not open a session to the VISA Resource Manager!"
usbtmc_test = status

ExitFunction

EndIf

" Find all the USB TMC VISA resources in our system and store the
' number of resources in the system in numinstrs.
status = viFindRsrc(defaultRM, "USB?*INSTR", findList, numlnstrs, instrResourceString)
If (status < VI_SUCCESS) Then
resultTxt.Text = "An error occurred while finding resources."
viClose(defaultRM)
usbtmc_test = status
ExitFunction

EndIf

' Now we will open VISA sessions to all USB TMC instruments.

" We must use the handle from viOpenDefaultRM and we must
"also use a string that indicates which instrument to open. This
"is called the instrument descriptor. The format for this string

" can be found in the function panel by right clicking on the

" descriptor parameter. After opening a session to the

" device, we will get a handle to the instrument which we

"will use in later VISA functions. The AccessMode and Timeout

' parameters in this function are reserved for future

"functionality. These two parameters are given the value VI_NULL.
Fori = 0 To numlnstrs

If (i > 0) Then
status = viFindNext(findList, instrResourceString)
EndlIf

status = viOpen(defaultRM, instrResourceString, VI_NULL, VI_NULL, instrsesn)
If (status < VI_SUCCESS) Then

resultTxt.Text = "Cannot open a session to the device " + CStr(i + 1)
GoTo NextFind
EndIf




" At this point we now have a session open to the USB TMC instrument.
" We will now use the viWrite function to send the device the string "*IDN?",
" asking for the device's identification.
status = viWrite(instrsesn, "*IDN?", 5, retCount)
If (status < VI_SUCCESS) Then
resultTxt.Text = "Error writing to the device."
status = viClose(instrsesn)
GoTo NextFind
EndIf

' Now we will attempt to read back a response from the device to
' the identification query that was sent. We will use the viRead
" function to acquire the data.
' After the data has been read the response is displayed.
status = viRead(instrsesn, Buffer, MAX_CNT, retCount)
If (status < VI_SUCCESS) Then
resultTxt.Text = "Error reading a response from the device." + CStr(i + 1)
Else
resultTxt.Text = "Read from device: " + CStr(i + 1) + " " + Buffer
EndlIf
status = viClose(instrsesn)
Next i

" Now we will close the session to the instrument using
"viClose. This operation frees all system resources.
status = viClose(defaultRM)

usbtmc test =0

EndFunction

b) TCP/IP 7=l
PrivateFunction tcp_ip_test(ByVal ip AsString) AsLong
Dim outputBuffer AsString * VI_FIND BUFLEN
Dim defaultRM AsLong
Dim instrsesn AsLong
Dim status AsLong
Dim count AsLong

' First we will need to open the default resource manager.

status = viOpenDefaultRM(defaultRM)

If (status < VI_SUCCESS) Then
resultTxt.Text = "Could not open a session to the VISA Resource Manager!"
tcp_ip_test = status

ExitFunction

EndIf
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" Now we will open a session via TCP/IP device
status = viOpen(defaultRM, "TCPIPO::" + ip + ":inst0:INSTR", VI_LOAD CONFIG, VI_NULL,
instrsesn)
If (status < VI_SUCCESS) Then
resultTxt.Text = "An error occurred opening the session”
viClose(defaultRM)
tcp_ip_test = status
ExitFunction
EndIf
status = viWrite(instrsesn, "*IDN?", 5, count)
If (status < VI_SUCCESS) Then
resultTxt.Text = "Error writing to the device."
EndlIf
status = viRead(instrsesn, outputBuffer, VI FIND BUFLEN, count)
If (status < VI_SUCCESS) Then
resultTxt.Text = "Error reading a response from the device." + CStr(i + 1)
Else
resultTxt.Text = "read from device:" + outputBuffer
EndlIf
status = viClose(instrsesn)
status = viClose(defaultRM)
tcp_ip test =0
EndFunction

INE: Window &4, LabVIEW,

A 1@iId USBTMC 1 TCP/IP i5[a1{Y B8k &, F1E NI-VISA E&1X"*IDN?"
S EEFIREFEE.
TR

FIFF LabVIEW Rf4, FFEIE— VI X,

IR, GERIERAE, MEEIFIFEREFRIN VISA BRE. EiRE
A. FEREHAREBD ISR .

FIFHEERRE, AF VISA RRSFR, FERHSEERR VISA ERAIEER
HINTRFIINAEE: VISA Write, VISA Read. VISA Open #1 VISA Close,
VI T T— USBTMC 151 VISA £1F, HMEIRES*IDN?45 S FH[E]iE
BOMEIE,. MFTEBESERAT, VIIEXE VISA £i1F, ITEFR:
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IR ENEL 1/0,LabVIEW BUAREARE 10, ARBEE TR, AfE
MREESEERAIERE, "Synchronous |/O Mode> >Synchronous" LASEEIEE
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*IDN? 256

MATLAB 755l

B IfE: Window &%, MATLAB,

B HEiA: @i USBTMC # TCP/IP i5[AMYER I8 &, FFTE NI-VISA ERi%
"*IDN?" @S REHIREER.

 PE:

1. ¥JFF MATLAB %4, rath#E Matlab RERY File>>New> >Script BllgE—
D= M 3,

2. FRS:

a) USBTMC 75~fl
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function usbtmc_test()

% This code demonstrates sending synchronous read & write commands
% to an USB Test & Measurement Class (USBTMC) instrument using

% NI-VISA

%Create a VISA-USB object connected to a USB instrument
vu = visa('ni',"USB0::0x5345::0x1234::SN20220718::INSTR");

%Open the VISA object created

fopen(vu);

%Send the string "*IDN?",asking for the device's identification.

fprintf(vu,"*IDN?");
%Request the data

outputbuffer = fscanf(vu);

disp(outputbuffer);

%Close the VISA object
fclose(vu);
delete(vu);

clear vu;

end
b) TCP/IP 7~
function tcp_ip_test()
% This code demonstrates sending synchronous read & write commands

% to an TCP/IP instrument using NI-VISA

%Create a VISA-TCPIP object connected to an instrument

%configured with IP address.

vt = visa('ni',['TCPIPO::,'192.168.20.11","::inst0::INSTR']);
%Open the VISA object created
fopen(vt);

%Send the string "*IDN?",asking for the device's identification.
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fprintf(vt,"*IDN?");

%Request the data
outputbuffer = fscanf(vt);
disp(outputbuffer);

%Close the VISA object
fclose(vt);
delete(vt);

clear vt;

end

Python 75l

a)

b)

IME: Window £E%t, Python3.8, PyVISA 1.11.0,

f#fik . @id USBTMC #1 TCP/IP i5[A){ 281k &, F1E NI-VISA ERIX
"*IDN?"ar < KEIIREES.

TE:

B % python, ZAG$TFF Python BIASRIZELE, BIE—N=HY test.py
i,

{# 3 pip install PyVISA i8<$%%E PyVISA, INFTiAR%E, BSE RS
HBA(https://pyvisa.readthedocs.io/en/latest/)

RS

USBTMC 7=/l
import pyvisa

rm = pyvisa.ResourceManager()

rm.list_resources()

my_instrument = rm.open_resource('USB0::0x5345::0x1234::SN20220718::INSTR")
print(my_instrument.query('*IDN?"))

TCP/TP 7/l

import pyvisa

rm = pyvisa.ResourceManager()

rm.list_resources()

my_instrument = rm.open_resource('TCPIP0::192.168.20.11::inst0:INSTR")
print(my_instrument.query(*IDN?"))
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Bigs® 2: IEEE 488.2 ZiHIEIEET

DATA 28uEmR, Hitty ASCI =fF, S TEF7R: <#812345678 + DATA +

\n>
FHaTF KERIZE (1Byte) | UEREIKE ({i3S Byte) DATA (n LR
(1Byte) Byte) (1Byte)
# X XXXXXXXX | e \n
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